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I, Which one of the following is most suitable method for obtaining cream from milk?

A, Chromatography.
B.  Centrifugation.

C.  Sublimation.
D.  Crystallisation,

2 Which of the following is not true about mixtures?
A.  Their properties are average.
B.  Their elements are chemically combined.
C.  Their substances are physically separated.
D.  Their composition is variable.

3. The diagram below shows the three physical states of matter.
Solid 9 » Liquid
Q P
Gas |

O, P and Q respectively represents;

A.  Melting, Sublimation, evaporation,
B.  Freezing, Condensation. evaporation.
C.  Sublimation, Condensation, melting.
D. Melting, evaporation, sublimation,

4. The most efficient method for separating a mixture of sodium chloride and iron (I11)
chloride is :
A.  sublimation.
B. decantation. . —I
N

C. filtration.
DB. crystallization.

S Which of the following is an oxidation process only?
'A.  Melting of candle.
B. Rusting of iron.
C. Displacement of copper ions by zinc metal.
D. Formation of white precipitate by ammonia solution.

6. A substance which conducts clectricity when molten but not when solid is
a metalic element.

non-metalic element.

an ionic compound.

a covalent compound,

RSN

7 Which one of the following is the correct order of purifying river water for domestic

use?

A, Aeration, filtraticz, scdimentation.

B. « Filtration, acration, sedimentation.

(= Sedimentation, aeration, filtration. —I

D. Sedimentation. filtration, aeration, S
7
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8. Ahydrocarbon compound consists of 82.76% carbon and rest being hydrogen- The
simplest formula of the hydrocarbon compound is

A. GCH
B. CH

C. CaBs
D. CsHs

9. Which one of the following pairs of ions forms Scum with soap solution?

A. Ca**and Zn®

B. Mg? and Fe**
"C. Mg* and Ca**

D. Fe¥*and AP

10.  When heated strongly copper(1l) nitrate le
residue is
‘ A. Reddish — brown (hot), grey (cold).
B. Reddish—brown (hot), black (cold).

C. Green (hot), black (cold).
D. Black (hot), black (cold).

11.  Which one of the following elements burns in air to form a solid that dissolves in
water to form a colourless solution that turns blue litmus paper red?

A. Phosphorus.

aves a solid residue. The colour of the

1 O O

]

B. Sodium.
C. Sulphur.
D. Magnesium.

12.  What is the volume of 0.1M sodium hydroxide solution that will react .comg_lqte}y with
———1Qem?of-0:1M selphuric acid; 2NaOH(aq) + H;S0s(aq) —> Na;S0s+ H20(1)

A* Scm?
B. 10cm’
C. 20cm’

. D. 25cm’

13, Which of the following is a monomer for proteins

A. Urea.
B. Glucose.
C. Fructose.

D. Amino acids.

14.  The change from Cu?* to Cu involves the
A. loss of protons.
B.' loss of electrons.
C. gain of electrons.
D. gain of protons.

15. hwgen l}f]ﬁO‘ch oJf 21,M sodium hydr(?xide solution is neutralized with 100cm® of 2M
ydrochloric acid, the temperature rises by 2.6°C. The moiar heat of neutralization or
sodium hydroxide by hydrochloric acid is. Take C = 4.18J/g/°C

A. 2.174k)
B. 10.4k]
C. 2.48kJ

D. 20.08kJ
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" epige 1AEEL of the
6. Which of the following, is the best explanation for increasing surfact ares
' reactants in the chemical reaction?
A. Increase the arca ol contact between reactiants,
B. Incrcase the amount of reactants,
C. Increase the rate of collision of the particles.

J D. Decereasce the kinetic energy.

—
"
e

. tee] with soap. This 15
17.  Hard water does not lather readily and leaves scumn when treated with s04f

I because hard water containg
A. particles of insoluble calcium carbonate. e
B. soluble salts of calcium and magnesium. ‘ ]
C. dissolved carbon oxide.

D. particles of insoluble sulphate.

7.2 dm? of gas Q has a mass of 0.82g. Calculate the relative molecular mass of 1
[1 mole of a gas occupics 24 dm? at room ternperature].

18. 1% (};

0.82 X 24
7.2

A.

24 %X 7.2
082
0.82 X 7.2
24
0.82
24x7.2
19. A solid when treated with dilute hydrochloric acid gives off a gz which turns

B.

G

limewater milky. This tells us that it
A. contained a carbonate. ,
B. was zinc carbonate. !
C. contained powdered carbon.
D was a mixture of carbon and metal oxide.

-—20.  Chlorine gas can be prepared in the laberatery by heating concentrated hydrochloric
acid with
A. Hydrogen peroxide. ]
B. Lead (II) oxide. | |

C. Copper(II) oxide.
D. Manganese (IV) oxide.

21.  The number of moles of ammonium ions contained in 250cm® of 0.1M zmmonivm
carbonate solution is.

A. 0.030

B. 0.050 N

C. 0.075 L

D. 0.925 o
22.  Which of the following best explains the term anhvdrous substznce. [t

A. never contains water. ] o

B. isalways a powder. [

C.__ isnotasalt.

oy t#

D. always changes colour when water is put g it

e
s

s N T -
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A. CH3, C2Hg, C3Hs
B. CHy, C;Hy, CsHs
C. CHa, CoHa, C3Hg

D_.‘ CHa, C2Hs, C3Hs
24.  Which of the following is the best dsscriplio‘n of an ore?

A. A vpurified metal. : ‘

%.  The mole
' cular formulae of the first three members of the alkane family are

B. The oxide of a metal.
C. A mixture of rock and a metal compound.
I A mixture of a rock and a metal oxide.

25.  Which of the following is observed in' moving from left to ri ght across a period in the

periodic table? ,
A. Non-metalic character increases. '

B. Metallic character increases. D
C. Number of energy levels decreases.

D. Number of energy levels increases.

O26. Sulphur reacts completely with concentrated nitric acid to form

A. Sulphur dioxide.

B. Hydrogen sulphide.

C. Sulphuric acid.

D. Sulphur trioxide.

omplete combustion of 2g of

97, What volume of air will provide enough oxygen for the ¢
24 dm? at room temperature]

phosphorus at room temperature [P =31, 1 mole of gas =

& 4P, + 502 —— PaOros)
A.  1.93 dm? .
( B. 9.7dm’ ] l
C. 12dm’ '
D. 24 dm®

728.  What mass.in grams of sodium carbonate deca hydrate Na,COs.10Hz0) is contained
in 100cm?® of 0.1M solution. [Na=23,H=1,C=12,0= 16]

0 0.1 X 10.6 X 1000
’ 100

106 %X 0.1 x 100

B.
1000
286 % 0.1 x 1000 ' ‘

G,
100
286 x 0.1 X 100
D,
1000

29.  Halogens are placed in the same group of the periodic table because they

A. are all gases at room temperature.

B. all have seven electrons in the outer most shell. )
C. all form compounds with hydrogen. _J
D. all contain the same number of shells.

Turn Over
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30., Starches and sugars belongs to the class of compounds known as
A. Allotropes. ' .
B. Isotopes. | lj
C. Hydrocarbons. o | :
D. Carbohydrates. :

31.  Which 6f— the following is formed when animal bone is heated without contact with
air? '
A. Magnesmm Sulphate. - p
B. Iron(II) phosphate. | . .
C. Calcium phosphate.
D. Zinc sulphate.

32.  The substance that is produced at the anode when a concentrated solution of ™
potassium iodide is electrolysed is,
A. potassium.

B. hydrogen.
C. oxygen.

D. iodine:

33.  The formula of the Sulphate of an element Q is Q, (S0, ),. The likely formula of the
chloride of the same element is

A. QCl
B. Q:Cl
C. QCI
D. QCl

“The electromc conﬁguratlon of the atoms of elements P, Q R and S are 2:8: R..2:8:5
2:8:7 and 2:8:8 respectively. Use it to answer question 34 and 35.

34,  Which of the elements will combine to form compound that can conduct electricity in
aqueous or molten form. | .
A. PandQ ‘
B. PandR _ E
C. QandR '
D. PandS

35.  Which of the pairs of element form a covalent compound?

QandR : |
P and Q : . ‘ i
Rand S |

ParidS

Cowy

36. In the blast furnance, iron is obtained from Iron (III) oxide according to the equati_orl-
Feﬁ()j + 3C0(g] ——-——b—fZFe{S\ + ’2(‘(‘]1; ) __17]
The mass of iron obtained from 40tonnes of iron(I11) oxide is [Fe =56, O =16, C=12

A. -8 tonnes. % - l'ﬂ
B. 14 tonnes. - L_,—I

C. 16 tonnes.
D. 28 tonnes.
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39

38.

39,

40.

H.

when 20cm? of nitrogen

The .
volume of ammonia gas at s..p that will be produced
3Ha(g)—* 2NHs(g)

jiactsl ‘(’}Vlctll:lilydmgep gas according to the equation N2(g)
B. 20cm’

C. 30cm?®- D
D. 40cm? .

Separation of dyes of ink by chromatography depends on
A. The different boiling points of dyes in ink.
B. The freezing point of substances.

C. The solubility of the dyes in solvent.

D. The size of the chromatography paper.

Which one of the following is an example of a non-bio degradable substance?

A. Wood. -

B. - Silk. _ |
C. Wool.

D. Polyethene.

The molarity of a solution made by disso

solution is (Na =23, C=12, 0=16)

lving 2.5g of sodium carbonate in 50cm® of

A. 047
B. 0.25M
C. 035M
D. 0.60M : '
may be correct. Read each

on 41 — 45 one/ more of the answers

d then indicate the correct answer as: A, B,CorD according fo

In each of the questi
question carefully an

the following.
A. If1,2and 3 only are correct.

B. If1 and 3 only aré correct.
,C. If2and4 onlyare correct.

D. If4 only is correct.
Instructions Summarised.
D

A B C
1,2.3 1 and 3 2 and 4 4
onl only only

only

Which one of the following is /are uses of graphite?
1. Making drilling bits.

2 Making electrodes. D
3. Making jewellery.

4. Making lubricants.

The yield of sulphuric acid in contact précess is increased by: '

1. Using moderate temperature.

2. The presence of vanadium (v) oxide. ‘

3. Increasing pressure.
4. Using excess 0Xygen.

The following (are/is) use(s) of chlorine on a large scale.

1. Sewage treatment. =

2. To bieach wood-pulp in papes making.

3. Preparation of soap. \_J
water purification. -

I wale Furn Oves

/1
4.
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44,

45,

46.

47.

4
o=

50.

: . . 9
Which of the following gas(es) is /are used as coolants in refrigerators:

1

2.
5
4.

D
¢
Zi
3
4

Carbondioxide.
Sulphurdioxide.
Ammonia.
Chlorine.

Kill viruses and bacteria.

Remove unwanted colours.

Add aluminium ions.

Coagulate fine suspended particles.

ring purification of river water for domestic use, aluminium sulphate is add to,

Each of the following questions 46 — 50 consists of an assertion (statement) on the
left hand side and a reason on the right hand side. -

Select as follows. -
If both assertion and reason are true statements and the reason is the correct

A.

B.

C.
D.

explanation of the assertion.

If both assertion and reason are true statements but the reason is not the correct

explanation of the assertion.

If the assertion is true but the reason is not a correct statement.
If the assertion 15 not correct but the reason is a correct statement.

Instructions Summarised

Uow»

Assertion  Reason

True True (Reason is a correct explanation)
True True (reason is not a correct explanation)
True Incorrect '
Incorrect Correct

Dilute nitric acid is notused in ~ Because
preparation of hydrogen.

Concentrated sulphuric acid Because
changes sugar from white to
black

The enthalapy of combustion of Because
butane is higher than that of
ethane.

Copper metal is extracted by Because
electrolysis,

Electrolysis of dilute sodium Because
hydrexide solution produces
va, geivand hydrogen gas.

-

It oxidises hydrogen to water.

Concentrated sulphuric acid is
an oxidizing agent.

Butane contains imore carboii
atom than ethane.

Copper reacts with concentrated
sulphuric acid to form
copper(11) sulphate,

Sodium hydroxide solution
consists of hydroxide ions ana | |

hydrogen ions, L
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; = . crystalisation to the
Which one of the following substances will give up 1ts water of cry

atmosphere when left in dry air?
A. Hydrated copper (II) Sulphate.

B. Hydrated Sodium carbonate.
C. Phosphorus (V) oxide.
D. Sodium hydrogen carbonate.

; g A . —_ ime is:
The red brown coating formed when iron is left in moist air for a long tim

. A. Hydrated Iron (II) oxide.
B. Hydrated iron (III) oxide.

N

C._Anhydrous Iron (II) oxide.
D. Anhydrous Iron (III) oxide.

Nitric acid prepared in laboratory is pale yellow because;
A. It contains dissolved nitrogen (II) oxide.

B. Itis less concentrated,
C. Itis highly concentrated.
D. It contains dissolved nitrogen (D) oxide.

Which one of the following is used during the manufacture of glass.
A. Sodium carbonate.

B. Calcium carbonate.

C. Sodium hydrogencarbonate.

D. Calcium hydrogencarbonate.

Which one of the following substances is produced when hydrogen chloride is passed

" over heated iron?
A. Oxygen.

B. Steam.

C. Hydrogen.
D. Chlorine.

Which one of the following compounds dissolves in water to .form a solution with pH7

A. NaHCO;

B. NachJ_

C. CH;COONa.
D. NaCl.

Which of the following pairs of substances will show the highest rate of production of

carbon dioxide at room temperature?
A. 10cm’ of 1M hydrochloric acid + 2g of powdered calcium carbonate.

'B. 10cm’ of 2M hydrochloric acid + 2g of powdered calcium carbonate.
C. 10cm’ of IM hydrochloric acid + 2g of lumps of calcium carbonate.
D. 10cm’ of 2M hydrochloric acid + 2g of lumps of calcium carbonate.

When 5.74g of a hydratéd salt X was heated, 3.22g of the anhydrous salt Y was

formed. The number of moles of water of crystalisation is,
(Y=161,0=16,H=1)

A 2,
B. 3
G &
D. 10.

© WAKISSHA Joint Mock Examinations 2014

Scanned by CamScanner

|




N | : .
The product formed after passing excess Sulphur dioxide through calcium hydroxide
solution is used for;

A. Bleachi.ng the pulp in paper making.

| B. Vuleanisation of rubber.
C. Killing bacteria during water purification.
D. Improving soils as a fertilizer.

10.  Which one of the following is the relative molecular mass of the gas if 8.4dm’ of the
. 8as has a mass of 0.93g at s.t.p.

093 x22.4
A, —, ‘
8.4 :
224 x84
B. : —,
0.93
.0.93 x 8.4
C.
22.4
0.93
D. .
224%X84 .

Which one of the following is observed when concentrated nitric acid is added to Iron

(IT) Sulphate solution? :
A. Brown precipitate.
B. White precipitate.
C. Brown solution.
~D. Colourless solution.

12.  2.0g of sodium hydroxide was dissolved in water to make 500cm’ of solution. The
molarity of the solution is (Na=23,0 =16, H=1)

11.

A. 2M.

B. 0.1IM.
C. 0.5M.
D. 0.05M.

13.  Which one of the following is NOT true about atoms *2Z and 4Y?
A. They have the same number of neutrons. :

B. They have the same number of protons.

C. They are atoms of same element.’

D. They have same number of electrons.

14. Copper (II) carbonate can best be prepared by;
A. Direct synthesis. ;
B. Neutralization.
C. Displacement.
D. Precipitation.

15.  Propene burns in Oxygen according to the following equation
%%HG%)I+ 9(32(3} ————— 6C02(g] o= 61‘120 :

en 2.1g of propene is completely burnt in ox en, the vol 10xi
produced at room temperature is; (C-= 12, H= 1.‘;8 sl

A. 1.2dm’,
B. 2.4 dm’
C. 34dm’.
D. 4.8 dm’.
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ion of copper (II)

- t
he positive electrode when an aqueous solu

16.  The product given off at t . ?
Sulphate is electrolysed using platinum electrodes 1s,

A. Oxygen.
B. Hydrogen.
C. Copper.

D. Sulphur dioxide.

Sodium hydroxide reacts with oxalic acid according to tge following equation.
. 2NaOH aqy T HoCoO040p ———> Nﬂngo4 a )+ 2H; n y 3
The VO]:]IT]B of O.BM(sgcﬁum hydroxide require{c;l to completely neutralize 25cm” of a
0.1M solution of oxalic acid is, - '
A. 625
B. 12.50
C. '16.67
D. 25.10

18.  Which one of the following formula represents an alkene?
A. CiH;
B. C4H;
C. C.H;

17.

electrons. The group and period to which X belongs in the -

. D. C4Hg
19.  The percentage of oxygen in Na,CO; . 10H,0 is (Na= 23, C =12, 0=16H= 1)
208 x 100
106
34
208X 100
D. 286
A. Iland2.
B. IIand3. .
21.  Which one of the following is a suitable method of separation of a mixture of Iron (III)
chloride and sand? ' :
C. Sublimation.
D. Using a magnet.

48 x 100 .

— 106

" B.
48 X 100
286

20.  Anion X* contains 18

periodic table is?

C. VIand2. _

D. VIand3. - ' ‘

A. Filtration.

B. Decantation.
22.  Which one of the following elements is a constituent of fertilizers? -
A. Phosphorus. ' '

B. Iodide.
C. Silver.
D. Copper.

23. Which one of the following pairs of elements form an ionic bond when reacted together?

A. Hydrogen and oxygen.
B. Potassium and bromire.
C. Sulphur and nitrogen.
D. Copper and aluminium.

© WAKISSHA Joint Mock Examinations 2014
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24' W i afr .
hen metal A was added to a solution of a Sulphate of metal B, metal B 10ns at®

precipitated. When metal C was added to a solution of Sulphate of B, no precipitate

VVVVEIS_ observed.
hich of the following is the correct order of decreasing activity of the three metals?

A. B,C,A.
B. A,B,C.
C. B,A,C.
D' C, Bg A.

25.  An atom of element X has atomic mass 27 and neutrons number of 14. The formula of

~ the oxide of X is?
A. X,0. '
B. XO0,. '

C. X;0s.
D. X;0s. ,
26. Toanaqueous solution of W, magnesium Sulphate solution was added, there was no
observable change, the resultant solution was boiled ina boiling tube.
A white precipitate was observed. The anion present in W is;
A. Carbonate.
B. Hydrogen Sulphite.
C. Hydrogen Sulphate.
D. Hydrogen carbonate.

27.  Which one of the following is a monomer of rubber?
A. Isoprene.
B. Amino acid. D
~ C. Glucose.
D. Ethene. | ;
28. Whichone of the following has a giant atomic structure? _
A. Sulphur. - - '
.+ B. lodine. D
C. Diamond.
D. Phosphorus. ’
29.  Magnesium ribbon was reacted with 2M Sulphuric acid according to the equation below.

' Mg(s} + HzSOA[aq} —_— MgSO4(an 5 Hg(g)
' hat shows the rate at which magnesium ribbon is used up with time is?

The graph t
A. A
p- b
" Time(s) | ol _ o
B. A D. Time(s)
(P
: g
‘=’
e 2
p> &
p=
. —>
Time(s) Time(s)

_ Turn Over
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i ; o . The formula of the hydrogen
| 30.  An clement X belongs to group (11) in the periodic table. The |

I carbonate of X is?
' A. XHCO,

B. X(11COy),
C. X; (11COy),
D. X(CO,);,

o ' J » sl et |C.
31, Metal P and a non metal Q are elements in the period three of the Qbrlﬂdlb tab
Which one of the following statements is NO'T true about P and Q7

. A. The atomic radius of Q is smaller than that of P, ;
| [ten state.

B. The compound formed between P and Q conducts electricity in mo
C. The chloride of I is ionic while that of Q is covalent.

D. The oxide of Q is basic while that of I is acidic.

32, Sulphur dioxide burns in air according to the following equation.
2505 + Oy ——> 280y, _
The volume of Sulphur dioxide that burnt when 50cm? of Sulphur dioxide was
combined with 20¢cm’ of oxygen is;

A. 40cm’
B. 20cm

: C. 50cm
! D. 25¢cm

L LI

33. . Study the flow diagram below,

Colourless solution A

Aqueous
NaOH |,

Aqueous
NHJSO.Q

White precipitate soluble in
excess sodium hydroxide

White precipitate

The cation in solution A is mostly likely to be

A. Al
B. Mg*.

6 s
D. Pb*".

34, . Which one of the following forms a white sublimate when strongly heated?
A. Ethanol.

B. lodide.
C. Ammonium chloride,

D. Ammonium Sulphate.

35, Which one of the following gases diffuses fastest?
CO,.

CH,. : ' '
& ]
NH,.

© WAKISSHA Joint Mock Examinations 2014 6
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3.

33.

39.

40.

o

Which one of the follows .
A. Copper (II) Oxide.“ ing compounds gives off oxygen when heated?

Copper (II) carbonate.

C. Lead (IV) oxide.
D. Ammonium nitrate.

Which one of the following compound can soften hard water?

A. Na,COs.
. B, CElClg
C. MgSO.,.
D. Ca(HCOs),.

An ¢xide of an element is made up of 50% M. The simplest formula of the ox1de is;
M=32,0=16)

A. MO.
B. MO.
C. MOs,.
D. M,0s.

Hydrogen is used on industrial scale to;
A. Make mining explosives.

B. Reduce metal oxides.

C. Make detergents.

D. Hardening vegetable oils.

~ Which one of the follo{ving nitrates does not produce an oxide when heated?
A. Zﬂ(NO;)g. .

B. Mg(NOs),.
. N&NOg
D. Cu(NO;:,);

Each of the following questions 41 — 45 consists of an assertion (statement) on the Ieﬁ
hand side and a reason on the right hand side.

Select as follows.

A.

B.

C.
D.

If both assertion and reason are true statements and the reason is the correct
explanation of the assertion.

If both assertion and reason are true statements but the reason is not the correct
explanation of the assertion.

If the assertion is true but the reason is not a correct statement.
If the assertion is not correct but the reason is a correct statement.

Instructions Summarised

oo

Assertion  Reason

True True (Reasonisa correct explanation)
True True (reason is not a correct explanation)
True Incorrect '
Incorrect Correct
Tuarn Over
© WAKISSHA Joint Mock Examinations 2014 s

Scanned by CamScanner




41 When Sulphur dioxide is Becouse  Sulphur dioxide reduces the
bubbled through cone. Nitric conc. Nitric acid to nitrogen (I0)
acid brown fumes are observed oxide

||

42 Metal extraction is essentially a  Because  Metal atoms readily gains

reduction process clectrons. S—
43 Manganese (IV) oxide reacts Because  Manganese (IV) oxide 1 basic
with cone. Hydrochloric acid to oxide.

produce chlorine gas.

44 Conc. Sulphuric acid does NOT Because It has a great affinity for water.
conduct electricity.

45 Enthalpy of neutralization of Because  Weak acids and alkalis are '
weak acids and alkalis is less partially jonized.
than 57KJ/mole

In each of the question 46 — 50 one / more of the answers may be correct. Read eacl
question carefully and then indicate the correct answer as: A, B, C or D according fo th
Sfollowing.

A. If1, 2 and 3 only are correct.

B. If1 and 3 only are correct.

C. If2 and 4 only are correct.

D. If 4 only is correct.

46. Which of the following is / are not commercial uses of carbon dioxide?
1. Manufacture of fire extinguishers.
2. Manufacture of fizzy drinks.
3. Manufacture. of baking powder.
4, Manufacture of industrial fuels.

. 47. The following substances are formed when ammonium nitrate is strongly heated.
. Nitrogen gas.

Dinitrogen oxide.

Ammonia.

Steam.

N

48. The products of reaction of chlorine with cold dilute sodium hydroxide are;
1. H,0. |
. NaCL

. NaClO.

' N3C103.

49. Which of the following is /are true about a dilute mineral acid?
1. Has a pH less than 7.
2. Liberates Hydrogen gas from all metals.
3. Liberates carbon dioxide from all carbonates.
4. Turns colourless Phenolphlalein indicator pink.

Ll b o—

50. When Phosphorous is burnt in oxygen?
1. Burns with a bright flame.
2. Forms an acid anhydride.
3. Gains weight.
4, Forms an nsoluble oxide.

END
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1. Which one of the following substances is not a mixture.

A. Air

B. Water.
C. Steel.
D. DBronze.

The clectronic configuration of four clements are W: 2:5, X; 2:8:1, Y3 2:4, Z; 2:8:8:]

2
The element which reacts most vigorously with cold water is
A X
B. W \
&g X ’
D. Z
3. Compound Y when strongly heated produced a brown gas and a residuc reddish - brown
when hot that turned yellow on cooling. Y is mostly likely to be
A. Zinc nitrate.
B. Zinc nitrite. I
C. Lead nitrate.
D. Lead nitrite.
4. When ammonia chloride was heated with calcium hydroxide, a gas C was given off. When
the gas is treated with nitric acid it forms a compound used as
A. adisinfectant.
B. acleanser.
C. anexplosive.
D. a fertilizer.
5. ‘Which of the following pair of substances can be separated by sublimation method?
A. Iron (1IT) chloride and sodium chloride. |
B. Potassium chloride and sodium chloride. I
'C. _Iron (II) chloride and copper (1I) chloride.
P D. Potassium chloride and copper (II) chloride.
6. An element Q has got atomic number 12. The oxide of Q is.
A. amphoteric.
B. Dbasic.
C. acidic.
D. neutral.
7 Which one of the following salts can be prepared from its elements by direct synthesis?

A. Potassium sulphate.
B. Copper (II) sulphate.
C. Magnesium chloride.
D. Lead (II) nitrate.

8. Which of the following is observed whe
A. Solution turns from green to yellow.
B. A colourless gas that supports burning is evolved.
C. A gas which bleaches litmus paper is evolved.
D. A colourless gas that burns with pale blue colour is evolved.

9. 20.0cm?® of 0.1M of salt X reacted with 10cm? of monobasic acid. 1f the mole ratio of salt
acid is 1:2. The molarity of the acid is

n chlorine water is exposed to sunlight?

and

A, 02M
“B. 0.8M
Cc. 0IM D

D. 04M

[ V]
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15.

16.

Which o
ne of the followi
: ving ; : .
solution and dilyte by g factors affects the rate of reaction between sodium thiosulphate

ochloric acid?
.g. Concentration. e
- Surface area.
C.  Pressure. |
D. Catalyst.
Carbon dioxide i
on dioxide is formed according to the equation below;

C. + "
; (5) ¥ Oy ——>CO, ,,AH = ~380kjmol ™
he energy liberated when 20g of carbon dioxide is formed is [C = 12,0= 16}

44
A_ e
20>=3.*sol‘J D
1380 x -
B. - 44};]
20
380 x 2
C. 380 = OK.T
44
L |
p, 20xd,
380

Ammonium sulphate was dissolved in water. The solution formed
A. had no effect on litmus.

B. changed red litmus to blue.

C. bleached the litmus paper.

D. changed blue litmus to red.

In which of the following reactions does sulphur dioxide behave as an oxidising agent?
A reaction of sulphur dioxide with ‘
A. Iron (1) chloride. .

.B. concentrated nitric acid. l
C. acidified potassium dichromate.
D. moist hydrogen sulphide gas. -

The electronic configuration of the ion of sodium is

A. 2:8:1 ' l
B. 2:8:8

C. 28

D. 2:8:2

Which one_of the following salts when dissolved in water would give a solution which is
neutral to litmus?

A. NaCl.
B. NH,CL.
C. Na,CO;.

D. (NH,).SO,.

The role of yeast during fermentation is to;
A. hydrate the sugars.

B. combine with sugar to form ethanol.
C. increase the temperature of sugar, for an increased production of ethanol

D. provide enzymes that hydrolyse the sugar.

Scanned by CamScanner Turn Ove
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18.

19.

21

I~
8]

ipi hen mixed?
‘Which one of the following would NOT form a precipitate W
A. Barium nitrate and sodium .sulpl.latt_e. D
B. Lead (II) nitrate and potassium I(}C‘Ilde.
C. Silver nitrate and potassium bromide.
D. Copper (II) nitrate and sodium sulphate.

Ammonia gas reacts with chlorine gas according to the equation.

SNH, + 3Cl, , ——6NH,Cl +N,; i i
o e g sk ction with 10cm? of ammonia gas 13

The volume of chlorine gas required for complete rea

A.  375cm’. _ D
B. 37.5em’.

¢ 3.75en’.

D. 26.7cm’.

Which of the following substance sublimes when heated?

A. Sulphur.

B. Solid carbon dioxide. l
C. Phosphorous.

D. Water.

An organic compound Q has 40.0% carbon, 6.7% hydrogen the rest being oXygen. G'iverl
that the relative molecular mass of Q is 180. What is the number of hydrogen atoms 1n one

molecule of Q. (C=12, O=16 ,H=1)

A, 24 -

B. 6

e 12

D. 18

Which one of the following is NOT used in the extraction of iron?
A. Air |
B.. Limestone.

C. Silicon.

D. Coke

Chlorine can be prepared in the laboratory by heating concentrated hydrochloric acid with
A. Lead (II) oxide.

B. Iron (II) oxide.

C. Copper (II) oxide.
D. Lead (IV) oxide.

An element X reacts as follows;
2+ 2+
A. X (aq) _HN(S) w (aq) +X{s}

2+ 3 2+
B. X(s}+Y (aq) Y(S)+X (aq)

c Z*(aq)+ Xm—-)No reaction
D. Z"m)Jr W,, —> No reaction
The correct order of reactivity is

A, X>W>Y>2Z

B. W>X>Y>Z

C. Z>W>X>Y

D. Y>Z>W>X

© WAKISSHA Joint Mock Examinations 2017
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28.

-

29,

24, The pereentage of . :
percentage of water of erystallization in Naz$203.51120 crystals is

(Na=23,0=16,8=32,=1)

D.

18x100
158

90x100 '

248

90x100 D
232

90100
158

Nitrogen reacts with hydrogen according to the equation below.
N,y +3H, » 2NH,,+ Heat .

Which one of the following pairs of conditions favour the above reaction?

A.  low pressure and low temperaturc. D
B. high pressure and high temperature.

C. low pressure and high temperature.

D. high pressure and low temperature.

Iron is usually galvanised before use because this

A. reduces the cost.

B. makes the iron structure stronger. ]

C. makes iron malleable. _
D.  makes iron rust free.

The mass of nitric acid required to make 200cm’ of a 2M solution is (H = 1,N=14,0=16)
A. 25.2g

B. 12.6g D
i 25.8¢

I 31.5g

Hydrogen sulphide in aqueous form is a reducing agent because ,

A.  itisaweakacid.

B. the hydrogen ions gain electrons to form hydrogen gas.

C.  the sulphide jons readily loose electrons to form a yellow deposit. D
D.  sulphur dioxide gas is always formed during the reaction.

Lead (II) carbonate decomposes according to the equation
PbCO, ——PbO,*+ COyy

The loss in mass wh

en 26.7g of Lead (II) carbonate is decomposed is

(Pb=207,0=16,C=12)

44x%26.7
v ¥

44 x 257
26.7

267
24%26.7°

267

26.7x267
T

44
Turn Over
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34.

36.

yas that

nce of colourless &

d sulphuric acid with effervesce
Q is likely to be

n conccntmlc

Solid Q dissolves i :
The anion 1M

fumes in moist air.

A nitrate.

3. carbonatc.

C. chloride.

D. sulphate. ater 7 94KJ
\?Ollll“c Of‘\\'.l Cly =

1 chloride 18

was dissolved in a certain '
f ammoniun

absorbed when 535gotl
1=1,N=14,Cl= 35.5)

ammonium chloride

When one mole of
nt of heat

of heat was absorbed. The amou
ed in the same volume of water s (1

dissolv
-
A. 535
2.94 x 5.35
B. 53.5 » 5.35 KJ
2.94
% ¢ 33.5
C. _.94. >: :')3 5 KJ
5.35
o) 5135
D. _.94_ X -:.:J K]
53.5

Which one of the following elements can burn in nitrogen?
A. Calcium.

[

B. Zinc.
C. Carbon.
D. Sulphur.

When concentrated sulphuric acid is added to ethanol, a colourless

produced, This is because the acid 1s a strong
A. reducing agent.

gas and a liquid are
B. dehydrating agent.
C. oxidizing agent.

D. corrosive agent.

Which one of the following is observed when ethene is bubbled through a solution of

bromine. It turns from
A. red to colourless.
B. reddish brown to colourless.
C. yellow to brown.
D. brown to yellow.

Which one of the following ions would NOT precipitate out lead (11) ions from solution?

A. NO;

B. COJ
C. SOF | ‘
D. OH

Solids X and Y dissolve in cold water to liberate ammonia gas and Oxygen respectively. X
and Y are likely to be N "

A. Mg,N,and Na,O
NH,Cland Na,O

B.
C. Mg,N, and Na,O,
D. NH,Cland Na,O,

© WAKISSHA Joint Mock Examinations 2017 0
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42.

43.
44.

45.

46.

47.

48.

49.

50.

some of the soap is initially
ium 10ns.

?fagodagasflru:?c?: l::i’;;? ta lather.  because used in removing magnes —

Sulphuric acid is a strong acid because its more volatile. -

Diamond and graphite have  because they are amorphous forms [ ——]

the same chemical properties of carbon.

A mixture of sodium chloride because the salts have different melting [ |
points. __

and sodium nitrate is best separated
by fractional crystallization.

In each of the question 46 — 50 one
question carefully and then indicate the correct answer as:

the following.
A. If 1, 2 and 3 only are correct.
B. If 1 and 3 only are correct.
C. If 2 and 4 only are correct.
D. If 4 only is correct.

or more of the answers may be correct. Read. each
A, B, Cor D according 1o

Instructions Summarised.
A B C D
1,2, 3 only 1 and 3 only 2 and 4 only 4 only

Which of the following properties make carbon dioxide gas useful in fire extinguishers?

1. Itis denser than air.

2. Itis an inert gas.

3. It is non-inflammable.
4. It is lighter than air.
Which of the following is/are formed when chlorine is bubbled through cold dilute sodium

hydroxide solution.
1. NaCl. '
NaOCl. \

2.
3. H,0.
4. HOCI.

Which of the following contains the same number of particles as there are hydroxide ions

(OH) in 10cm’ of 0.2M sodium hydroxide solution?

(Al =27, molar gas volume at s.t.p = 22400cm’, L = 6.02 X 10%)
1. 0.054g of Al

2. 0.002 moles of Oz,

3. 0.0448dm’ of N2

4. 0.003 moles of Pb.

Which of the following is/are the products of electrolysis of dilute copper (1I) chloride

solution using inert electrodes?

1. H,.
2. 0,.
3 CL.
4, Cu.

Which of the following nitrates when heated will decompose to form a metal?

1. Mercury (Il) nitrate.

2. Copper (II) nitrate. '

3. Silver nitrate. \
4, Zinc nitrate.

END
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L. A mixture of two soluble salts can be separated by;
A.  Filtration.
B. Decanting. D
C.  Fractional crystallization.

2 Fractional distillation.

2 An clement Q reacts with stcam rapidly but reacts very slowly with cold water. Qs

likely to be;

A. Calcium.
B. Magnesium. |

8 Sodium.

D.  Potassium.

3 Element X forms a covalent oxide of formula XO2, the group to which X belongs in the
periodic table is;
A.
B. I1.
5z, I11. ‘ l
D. IV.

4, A hyfirocarbon T consists of 85.7% carbon, if the molecular mass of T is 28, the
atomicity of Tis? (C=12, H= 1)

A. 8.
B. ‘ !

6.
e 4,
D 2.
3 Electrolysis of dilute aqueous solution of X2* and Y?* separately using inert electrodes

liberates hydrogen gas and Y at the cathode respectively. Another clement Z reduces X °
in solution. The order of reactivity beginning with the most reactive is.
Sl - & Xs>Y>H>Z
B. Z>X>H>Y ‘
C. H>X>Y>Z :
D. Y>Z>X>H

6. Which one of the following hydroxide would undergo atmospheric oxidation in the
presence of moisture?
A. Fe(OH):. ,
B. Fe(OH)s. {
C. Al(OH)s. '
D.  Cu(OH)z.

7. The diagram below shows the interchange of the three states of matter.

SOLID P > GAS

-y
LIQUID _
The process labelled P and Q respectively are;

condensation and sublimation.
freezing and evaporation.
sublimation and condensation.
sublimation and melting.

wiet s

J
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Which one of the ;
he following compounds contains the highest percentage of sulphur

{8=32, H= |, O=l6)

A.  HaSO..
B. HZS?.O';.
c. SOa.
D. HsS.
9. Which one of the following reagent can be used to dist

aluminium ions.

A.  Lead (II) nitrawe solution.
B.  Ammonia solution.
C.  Barium nitrate solution.
D.  Sodium hydroxide solution.
10. }2Br and SiB1 are atoms of bromine. the major difference betwee
have
A.  different number of electrons.
B. different number of protons.
C.  different number of neutrons.

D. different number of energy levels.

11.  The molarity of 49.0¢ of sulphuric acid in 250cm’ soluti

A 98 x 250
) 1000

49 % 1000
B. i o
98 x 250
g9g % 1000
e ]
49 x 250
49 x 250
Rl G haiay

g8 x 1000

C.

D.

12. “Which one of the followin
A, Lead (1) oxide.
B.  Nitrogen (11) oxide.
L. Phosphoric (V) oxide.
D.  Copper (ID) oxide.

13.  Which one of (he following is/are formed when

A.  Nitrogen (1) oxide and water.
B. Nitrogen (1) oxide and water.
C.  Nitrogen and water.
D.  Nitrogen. [ydrogen and water.
14.  When chlorine is bubbled through an aqueous solution 0
formed is/are
A, Sodium sulphate.
B.  Sodium hydrogen sulphate.
C.  Sodium sulphate and hydrochloric acid.
D.  Sodium hydrogen sulphate and water,

15.  Steel is an alloy of iron and

A. Tin.
B.  Copper.
C. Zinc.

D. Carbon.

¢ IANISST Joint Mock Fxaminations 2018
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16.

17.

18.

19.

20."

21.

22,

23,

; X -oplating?
Which one of the following metals is not commonly used for electrop &

Al Chromium. :\
B. Tin. '

% Copper.

D. Iron.

- G g 3 M
What mass in grammes of sodium carbonate-10-water is containced in 50cm of 0
solution (H=1,C=12,0 =16, Na=23)

106 x 0.1x 1000
A. _—
50
106 x 0.1 %X 50
B —_—
1000
286 x 0.1 x 1000
C. _—
50
50 X 0.1 x 286
D_ paathiityedrf il a o
1000

The electronic configuration of atom of element G is 2:8:1. Which one of the following
elements will show properties similar to G.

A, 28,

B. 2R,

c.  B[w.

D. H7

The statement which is not true about sulphur dioxide is...
A. turns wet blue litmus red. .

B. turns lime water milky.

C. forms sulphite with sodium hydroxide solution.

D.  fumes with hydrogen chloride.

Which one of the following adopts a glant atomic structure?

A. NaCl '

B. CO;

g Si0;

D AlO3

Which of the following salts would form an alkaline solution when dissolved in water?
A. Sodium carbonate.

B. Sodium chloride.

G Ammonium chloride. _
D.  sodium sulphate.

Which one of the following is observed when copper (I1) sulphate solution is
electrolyzed using copper ¢electrodes?
A.  DBubbles of colorless gas.

B. Decrease in size of the cathode.
. Decrease in the size of the anode.

D.  the anode is coated with copper metal,

It’s possible to collect hydrogen gas by upwards delivery because:
A. its soluble in water.

it burns with pop sound.
it’s a colourless gas.

oo W

its less dense than air.

© WAKISSHA Jaint Mock Examinations 2018
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Magnesium burns in oxygen according to the equation

2Mg(s) + Oa(g) » 2MgO(s)

The mass of magnesium oxide formed when 7.2g of magnesium burns completely in

excess oxygenis (O=1 , Mg = 24)

7.2 %
Al 40
24
24 X 40
B.
72

£ 7.2 X 24 X 40

7.2 X 24
40

D.

I

heating is necessary in order to;

A.  speed up the rate of the reaction.

B. dry up the gas.

C.  evaporate the sulphur dioxide.

D.  prevent the gas from dissolving in water.

26.  When a solution containing 4g of sodium hydroxide was completely reacted with

|

During preparation of sulphur dioxide from sodium sulphite and dilute hydrochloric acid,

|

hydrochloric acid, 2730 joules of heat was evolved. Which one of the following is the

heat of neutralization of sodium hydroxide by hydrochloric acid (N aOH = 40).

2730 x 4
A = KImol®
100 x 40
1000 X 40 .
B. ==l
4%x2730
4x2730% 1000
€. X KJmol!
40
o 40x 2730 T
D. SR KImol
1000 X 4

[

27, 45cm? of hydrogen gas were exploded with 30cm? of nitrogen gas at room temperature.

The gaseous product which remained when the reaction had come to an end is

A 15cm® of hydrogen and 20cm? of nitrogen gas.
B.  15cm? of hydrogen gas.
C.  20cm?’ of ammonia gas.
D.  45cm’® of ammonia gas.

28.  Which of the following is a synthetic polymer?

A. Nylon.
B. Wool.
C.  Sisal

D. Cotton.

|
|

29. A white precipitate is formed when lead (1I) nitrate solution is added to an aqueous
solution of Z. the precipitate decomposed when heated. The anion in Z is likely to be.

A. SO4%.
B. CT.

G C032'.
D. HCOy'.
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32

33,

34,

33,

36.

37.

= sultant solid product was dissolveg ;
: s oxyeen eas. The resultant solid proc SHin
Element, Q was burnt in excess oxygen gas. 1 E N
3 2 YE : = 5 yroduct 1s likely o be
water containing litmus paper. The litmus turned pink. The solid prc

A. sodium oxide. '
B.  phosphorous (V) oxide.
C calcium oxide.

D. Sulphur (IV) oxide.

Which one of the following explains the bleaching action of sulphurous .
A. Gives oxygen to the dye.

B. Neutralizes the dye.

. Extracts oxygen from the dve.

D.  Gives away its replaceable hydrogen to the dye.

Which one of the following is formed when excess ammonia gas reacts with chlorine
gas?

A. NHiCl and N,
B. NCI; and N-.

C.  NCl; and HCI.
D. NH,Cl and HCI.

The white precipitate formed when silver nitrate solution is added to sodium chloride
solution dissolves in ammonia solution because; '

A. ammonia solution is a weak alkali.

B. silver ions forms a complex with ammonia molecules.
C. silver chloride easily decomposes.

D. the ammonia molecules are more volatile.

Which of the following is NOT used during the manutacture of cast iron?
A.  Hematite.

B.  graphite.
2 calcium carbonate.

D. Hot air.

Metal P displaces hydrogen from dilute acids but metal Q does not. Metal R displaces P
from its chloride. The order of reactivity of the metals beginning with the most reactive
is.

A. P,Q,R.
B. Q,P,R
C. R,Q,R.
D. R,P,Q.

Which one of the following compounds will turn purple acidified potassium
permanganate solution colourless when bubbled through it?

A. CaHa.
B. CHa.
C. CaHyo.
D. Csz.

When acidified lead (I1) nitrate solution is added to an aqueous solution X. A white
precipitate is formed. X is likely to contain both:
A, HCO; and CI

SOs* and HCOy

B. _
&9 Cl" and CO4§™
D SO, and CI

COIRISSHA Joint Mock Exaniations 2018 0
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38, The dehydration reactiong of sulphuric acid
excepts

A. CallsO11

13. Col 11206

are shown in its reaction with the following

G CuSO4511,0
D. NaNO;

39, Which ()1 the following processes will absorb at least two gases from the atmosphere?
A, Combustion of Magnesium,
B.  Respiration,
C. Fermentation of sugars. '
D. Photosynthesis. '
40,

Calcium carbide reacts with water to produce a gas according to the equation.
CaCas) + 2H20() ——— Ca(OH)y 5+ CaHa (g

The volume of the gaseous product at stp when 6.4g of calcium carbide reacts
completely is; (ca=40,C=12, H=1)

6.4 X 64
A' AR e e,
22.4
22.4
B.
64 X 64
C. 04 x04x22.4
6.4%22.4
D. e
64

Each of the following questions 41 — 45 consists of an assertion (statement) on the left
hand side and a reason on the right hand side.
Select as follows.

A. If both assertion and reason are true statements and the reason is the correct

explanation of the assertion.

B. If both assertion and reason are true statements but the reason is not the correct

explanation of the assertion.
C.

If the assertion is trrue but the reason is not a correct statement.
D.

If the assertion is not correct but the reason is a correct statement.

Instructions Summarised

Assertion Reason
A, True True(Reason is a correct explanation)
B. True True (reason is not a correct explanation)
C. True Incorrect
D. Incorrect Correct
41.  Water gas is a better all its components rr——_
fuel than produced gas because are combustible S

42.  Nitrogen is chemically an nitrogen is a diatomic molecule —
Inert gas because

Tuin Gyey

-
i
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it is a diatomic molecule 1n 1ts
elemental state.

43.  Chlorine occurs in combination
With other elements as in because
Sodium chloride

the two have different structures.

44,  Graphite and diamond are because
Isotopes of carbon

protons are positively charged
while electrons are negatively
charged.

45.  Anatom is electrically neutral  because

In each of the question 46 — 50 one or more of the answers may be correct. Read each

question carefully and then indicate the correct answer as: A, B, C or D according 1o
the following.

A. If 1, 2 and 3 only are correct.

B. If 1 and 3 only are correct.

C. If 2 and 4 only are correct.

D. If 4 only is correct.
Instructions Summarised.

A B C D
1,2, 3 only 1 and 3 only 2 and 4 only 4 only
46.  Decomposition of chlorine water in the presence of sun light form(s);
1 Clz
e HCl
3. HCIOq4
4 02
47.  Which one of the following reactions is/are NOT involved in the catalytic oxidation of
, ammonia?
¢ 4NOz) + 2H20(g) + O2gy) —> 4HNOs(a).
2 2NO(g + Oz —> 2NOazy).
3. 4NH3) + 502 —> 4NOyg + 6H20(g).
4. 2HNOj3(zq) + SO2(g) —> HSOuaq) + 2NO2yy)
48.  The form(s) of amorphous carbon used as fuel(s) is/are
1. Coal.
2. Animal charcoal.
3. Coke.
4 Soot.
49.  Which of the following decomposes when heated to produce a mixture of gases?
l. KNO;.
2. HNOas.
3. ZnCO:s.
4. AgrCOs.
50. Which of the following process(s) requires Hydrogen?
1. Haber process.

Contact process.

2
3. Hardening of oils.
4.

Polymerisation.
END
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The ability of liquids and gas to flow depends on

A. High intermolecuiar forces-
B. Low intermolecular forces
C. High kinetic energy

D. Low Kinetic energy

Which of the following in a neutral oxide?

A FB;O; : _
B. F83O3 :
"C. NO | i {

D. NyOq4

The element most likely to remove oxygen from Zinc oxide when
element is heated is

A. Lead _ - "

B. Magnesium _ : =

C. Copper _ i [ '
D. Iron ' :

Which of the following anions forms a white precipitate with barium nitrate solution soluble in

a mixture of the oxide and

nitric acid
A, SO& ' :
B. CO5” o
S o ' B
D. NO;5 : '
- Atormic number of an element R is 13, the electronic configuration of the ion of R is
A 2:2:8
B. 258405
e 2:8:3
D. 2:8

The reaction between two substances is exothermic. Which of the following is mostly likely to

slow down the rate of reaction.
A. Increasing the temperature of the surrounding

B. Placing the reag:nt in an ice bath
C.. Having an excess of one of the reagents : [

D. Removing the products as fast as they are formed.

Carbon dioxide gas shows the following properties. It is

i)  denser than air
ij) asublimate
iii) non- combustible

-iv) does not support combustion

The use of carbon dioxide as a coolant depends on

A. (i) and (ii)
B. (ii) and (iii) , '
C. (i) and (iv) ‘
D. (i) only : ' _ e
75g of a saturated solution contained
40g/ 100g of water

66.67g/ 100g of water

6.67g/ 100g of water

250g/ 100g of water

30g of a salt. What is the solubility of the salt?

90w
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In which of the following reactions is chlorine acting as an acidic gas

A. ZFE(Q +3Ch Ag) ——> qFLCi}(g)

B. 2Nay+Clyy — 2NaCly ‘
C.  Clyg+ NaOHgq ~——— NaOClyg *+ NaClg + Hz ;00D

D. HZU_‘J S 5 Clllg’l _— F’HC[(@

10.  Which of the following substance sublimes when heated
A. Hydrated sodium carbonate
B. Ammonium chloride
C. Copper Il oxide
D. Ammonium sulphate
11.  The elements that can be extracted from their oxides by chemical reduction using carbon (coke) |
are : '
A. Aland Zn
B. ZnandFe
C. MgandCu . .
D. Ca and Cu : \
12.  The atomic numbers of elements X.Y.,Wand Zare 9, 11, 16 and 12 respectively. Which one of
the following pairs of elements wlll form a covalent compound.
A. Xand W
B, Xand Y-
. C. WandZ
70 D Yand W . :
12 Which one of the following hy dromdes is soluble in excess aqueous ammonia solutlon but -
insoluble in excess sodium hydroxide solution.
A. FC{OH); .
B. Pb(OH).
C. Cu(OH)r
D. Ca(OH) ‘ ; _
14, Which of the following processes is not used to remove permanent hardness in water
A. Treatment with sodium carbonate
~B. Distillation
~ -..C. lonexchange _
~.°D.  Addition of calciumn hydroxide :
\ 15, Aneclement A forms a covalent compourid with oxygen of formula A>QO3. Gn ci that A bclon_gq
4 - *operiod 3 of the periodic table, the possible electronic conﬁ;,umtmn of the ‘1[0111 of A is
A "2:8:5
B 238:7
. 2:/8:3
D, 2:8:6
16. J"‘aphl.tc is used as an electrode in electrolysis bcmuse it
A, issoft and slippery
~ ‘B.  has hexagonal layers
-+ C. has mobile electrons
D. isblack and translucent '
17:  Which of the followmg is strong acid
- A.+ Citric acid
" 2. Phosphoric acid . s (A
C. - Carbonic acid
D. Hydrochloric acid _ ' l '
© IVAKISSHA Joint Mock Examinations 2013 Tu I‘llﬂ(}‘.’l
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1 T
TR—— sely wi m” of dilute hydrochlorie
(8. 20em’ of 0.1M sodium carbonate solution reacted completely with 10cm” of dilute hydrochloric

acid according to the equation below .
Nil;{{,‘-( ) ) (114)) 4 21 I(.:][",” a——— 5 3 [ ,|‘",” L “)( )”] 4 (»()2(21
The molarity of the acid is

A Ol M
B, 04M IS

C. 08M
D. 02M
A9, Which of the following catalysts is used in the manufacture of sulphuric acid by contact process

A, Manganese (1V) oxide
B.  Fincly divided iron

C. Vanadium (V) oxide
D.  Platinised absestos

20. Which onc of the following would dissolve in dilute hydrochloric acid?
A, Lead (I1) sulphate

B.  Lead (I1) chloride

C.  Barium sulphite

D.  Barium sulphate

21.  Nitrogen reacts with hydrogen according to the cquation
' Nz(p_) + 3} 12(3_} = 2N”3{H}
The total volume of gascous products formed at the end of the reaction when 120em®
of hydrogen were mixed with 50cm? of nitrogen is

A.  170cm’ ——,
B.  90cm’
C. 80cm’
D.  70cm’ !
22, Which one of the following reagents can be used to oxidise Iron (I1) ions

to Iron (1) ions.’

A.  Sulphur dioxide

B.  Hydrogen sulphide
C.  Chlorine

D.  Hydrogen chloride

23. The number of protons, neutrons, and electrons in an atom Z represented by 2137 respectively is

CA 129 0 213 84
“B. 8 129 213 -
C. 8 129 129 |

D, 84 129 84

24. When 4.0 g of an oxide of the ¢clement X were reduced, 3.2¢ of Z were obtained.
The simplest formula of the oxide of X is;
[X=64 , O=16]
A. XO
B. X,0
C. X0,
D. X,0;
25. " Asolid M dissolves in water to form a colourless gas that fumes with hydrogen chloride gas. The
solid M is likely to be
A. Na O,
B. Mg; Nz
C, Na NO;

D. Mg(NOy),
© WAKISSHA Joint Mock Examinations 2013
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26.  Vulcanisation of rubber is azimed at increasing its
. A. strength and reactivity
.B. stability and viscosity
C. elasticity and reactivity
D. strength and elasticity

27.  Which one of the fcllowmg conducts elcctnc1ty in electrolytes’?
; A. Neutrons

B. elcctl ons
C. Protons

D. lons

28.  Glucose burns in oxygen according to the cquatlcn below
CﬁHl?oﬁ{s} + 602(31 —_— 6002(3) & 6H20(;), AH—2802KJm01

The amount of heat produced when 18.0g of glucose is burnt completely in oxygen at the same

temperature is
[H=1, C=12, 0=16]

2802
CA Soxam
' 180 .
B Zeeexmo
180 X 18.0
C. 2802
: 2802 X 18.0
K D 180 '
29.  Which of the followmg pairs of saltb can be separated by fi Itratlon'?
A. Sodium carbonate and Ammonium carbonate
B. Ammonium sulphate and Magnesium Sulphate
C. Barium chloride and Barium nitrate
_ D. Zinc carbonate and Zinc sulphate
30.  The melting and boiling points of substances W, X, Y and Z are summarized below.
Substance mcntmg p01nt(°C) Boiling point(°C)
W - =135 _ 0.5
- X =389 _ 356.6
« ¥. -145 ' -10
. Z -112 75.5
Which of the following pairs of substances are liquids at room tempcrature
A. Wand X
B. XandY
C. XandZ
D. YandZ
31.  Which orr;c of the follcwmg gases dlffuscs fastest under similar conditions of temperature and
pressure’ -
C=12,0=16,Cl=35.5,N=14,H=1
A, NH;
B. CO
e 80y
D. Cl
32. R N 18 a process by which starch is fonned from glucose molecules.
B. Polymerisation- l '
C. Hydrolysis ' | '
D. Fermentation
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33.  Which of the following hydrocarbons decolourises bromine water when bubbled through it?

. A. Ethene
B. Ethane
C. Butane
D. Methane

34.  Sodium nitrate decomposes according to the following equatxon
2NaNOzi) — QNBI‘IOQ(S) ot Oz(g) _
The volume of oxygen at s. t p produced when 10g of sodium nitrate are decomposed is, (1 mole
gas volume at s.t.p 22.4dm°>, Na=23, N"'14 0=16) :

' 10X 224
A. -
170
10X 170
B‘ .
_ 224
C . 22.4X10
o B
- 85
10X 85
i
224

| 35 0.98 gofagasMats.tp occup1es 8.4dm’, The relative molecular mass of gas Mis
(1 mole of gas occupies 22. 4dm’® at's.t. p) -

0.98 X 224
A.

8.4 _
093 X 8.4

224

B.

224X84
0.98
0.98

22.4 X 8.4

36.  Which one of the followmg anions when in solution will react with lead (II) mtrate to form a
~ white precipitate which dissolves on heatmg and reappears on coeling? :
A. - lodide ion -
B. Chlorine ion
C.  Sulphate ion
D. Carbcnate ion.

*37.  Which of the follomno salts does NOT produce Ammonia gas when heated?
A. Ammonium carbonate
B. Ammonium chloride
C. Ammonium sulphate
D. Ammonium nitrate

38, Which of the following is observed when solid lead(II) nitrate is heated strongly'?

A. White residue
B. A residue which is reddish brown when hot and yellow on cooling

~ C. A residue which is yellow when hot and whntc on cooling
. D. A grey residue :
39. . What mass of sodium hydroxide would be needed to neutralize exactly 2000m of a solution’

- containing 49g of sulphuric acid per litre?
2NaOHaq) + HzSO4(aq) —— Na;;SO‘;(aq, +2 H,0q) (Na=23, O=16, H“l and S = 32)

A. 4g
B. 8g

C. 1lé6g

D. 32g
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40.  The structure below is of a polymer

E

~ €~C-C-C-
.
H H H H|n

N
the name of the monomer of the above polymer is
A. Ethene
B. Ethane
C. Butane

D. Butene

In each of the questions 41 to 45, one or more of the alternatives given may be correct, Read each

question earefully and then indicate the correct answer. accor ding to the followmg
~A.  If1,2 and 3 only are correct

B. If1 and 3 only are correct
'C. If2and 4 only are correct
D. If4onlyis correct

Instructions summerised _ -
! A - ‘B : . O D
1, 2, 3 are collect 1,3 are correct 2.4 are correct 4 enly is correct

“41.  Which of the following element(s) reacts directly with oxygen to forman o<ide?

1. Magnesium
2. Silver
3. Copper
4. Gold

42. . When dry hydrogen gas is passed over heated copper (1) oxide,
1. Copper (II) oxide is reduced

2. Hydrogen is reduced

3. Hydrogen is oxidized

4, Copper is oxidized

43.  The salts that can be prepared by preci pltatlon is/ arc

1. Lead (II) nitrate
2. Lead (II) sulphate
3. Barium nitrate

4, Barium sulphate

44,  Which of the following contains the same number of panicles as 2.4dm° of Argon at room

temperature
.,[Mg 24, Ca=40, C=12, O- 16, Al = 2?] molar gas volume = 24dm" at room tcmpemtme
1. 2.4g of magnesium
4.0g of calcium
4.4g of carbon dioxide
3.4g of Aluminium

RSP S
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45.

Carbon and phdsphofbus are similar in that both

-

1. Are non-— metallic elements
2. Exist in allotropic forms
3. Form covalent oxides
4. Form neutral oxides
Each of questions 46 — 50 consist of an assertion (statement) on the left hand side and a reason on
the right hand side.
Select: .
A. Ifboth the assertlon and reason are true statements and the reason is correct explanation.
B. . If both the assertion and the reason are true statements but reason is not a correct
explanation of the assertion.
C. If the assertion is true but the reason is not a correct statement.
D. [Ifthe assertion is not a corr ect statement but the reason is a correct st‘ntuucnt
Instruction summ.mzed :
ASSERTION : REASON
A. TRUE" ‘TRUE (reason is a correct explanation)
B. TRUE TRUE (reason is NOT a correct cxplqmlmn)
C. TRUE INCORRECT
D.. INCORRECT CORRECT
46.  Hydrogen gas can be it can easily explode
collected by upward . Because when mixed with
delivery ' air.
47. = Thereactivityof =~ _ the atomic radius
alkali metals decreases. * Because - of the alkali metals
down the group " increases down the
group.
 48.  Hydrogen chloride gas : hydrogen chloride gas
can be used instead of Because ‘and Amimonia gas have
ammonia gas in fountain ~ same solubilities in water.
experiment
49.  Concentrated sulphuric i it ionizes completely to
acid is a strong oxidizing Because produce H' in solution.
-agent. ' '
50. - Inelectrolysis of dilute - . sulphate ions carry more
& sulphuric acid, hydroxyl ‘Because )

ions are discharged in _
-preference to sulphate ions.

- END

charge than hydroxyl ions.
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eam. X reacts with an aqueous solutiop of Y‘
H(aq) + Y(s)‘

i ; 1 with st
1. Metal Z reacts with co‘ld water whﬂgY rea(fs__p o
according to the equation: X(s) + Y (aq)

i ' cactive 1S
The order of reactivity of the metals starting with the most reactl
A ZY. X
XY, Z

B.

g . ¢

D. Y.X,Z

: i istillation?

2. Which one of the following statements is true about mixtures separated by fr actional distillatio

A. The components are miscible.

B. The components have close boiling points.

o The components are immiscible.

B. The components have different rates of movement.

3. Which one of the following pairs of electrolytes whose formulae are given conduct eiectricity in
the molten state?
A. CuSO4 and NaOH

B. Pb(N03)2 and ZnClz
C. NaOH and Na(Cl
DL PbBr; and PbCl, - '

4. The formula of an ion of element Z is 72* The likely structure of an atom of element Z is
& -5Z
B 287
G 33z , D ’
5. The number of moles of ammonium jons in 50 cm’ of 2 0.2 M ammonium sulphate solution is. ..
0.2X50x2
A. e ———
1000
B 0.2 x50 ’
) 1000 _
C. 02x50x2
0.2 x50
D. e
2 X1000
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Which one of the followi i . _
athort of the following pairs of salts whose formulae are given can be prepared by the same

AL ZnS04.7H,0 and CllSO.q.SHzO
B. ZnS0;.7H,0 and FeS0Q4.7H,0
. ZnS04.7H,0 and PbSOQ,
D. FeS0O4.7H,0 and PbSQ;

7. The reaction below in which sulphuric acid acts as a dehydrating agent is...
A. Mg(s) + HySOs(aq) ———> MgS04(aq) + Ha(g)
B S(s) + 2H2S04(I) ———> 380,(g) +2H0(l)
L. CHsOH(I) H,SO4(l)——> C;Ha(g) + H20())
D C(s) + 2H,S04() —————> COy +2502(g) + 2H0()

8. Which one of the following is a pair of saturated hydrocarbons?
A. C4H]o and C2H4
B. CQHG and C3Hg
G C2H5 and C2H4
D. C3Hg and C2H4

9. When water is added to solid M, a colourless gas which relights a glowing splint is evolved. M 1s
likely to be
A. Na;0;
B. KClO;
e Na2C03
D. H,0;

10.  Methane burns in Oxygen according to the equation:
" CHu(g) +205(g) —* CO2(g) +2H,0() AH=—890kJ mol”. The volume of methane
measured at room temperature that burns in excess oxygen to evolve 890 J of heat is [Molar gas
volume at room temperature = 24 dm’]

A 24cm’
B. 24000 cm’
C. 240cm’

o D.  2.40cm’

il When lead(Il) nitrate solution is added to an aqueous solution X, a white precipitate is formed. X
is likely to contain...

A. -, S0;~, CI7
B. C0%-, 17, OH~
L OH, C-, I”
D sD%-, €037, €I

Turn Over
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hich dissolves in water to form a golution with pH less than 7 ‘

12. The pair of substances below w
is. .. ;
A. Nazo and CO; Il
B. COz El.ﬂd SOZ |
C. Ca0 and SOz
i CO; and CaO
. . 2
13.  Which one of the following acids reacts with copper metal evo lving reddish brown fumes
A. H,CO;3 '
B. HNO;
C. H,S04
1, HCl
14.  Which one of the following forms of Carbon consists of hexagonal crystals?

A Graphite

B. Diamond
g Soot
D. Lampblack

15. A hydrocarbon S of molecular mass 58 contains 82.76% by mass of carbon. The molecular formula 0{%
i

A. CsHg
B. CsHio
C. CoHs
D. C4Hs
16. 10 cm’ of hydrogen was mixed with 10 cm’® of oxygen and the mixture exploded. The mixture

was allowed to cool to room temperature. The Volume of gas that remained was...

£, 10 cm® of steam
15 cm’ of steam and oxygen

B.
ke 5 cm’ of hydrogen
D. 5 cm’ of oxygen

17. 250 em’ of a 0.1M solution of substance Z required 24.9 e’ of a 0.2 M solution of an acid. The
ratio in which Z reacts with the acid is
A. 2:1

B. 1:2
|98 ik | -
D. 2:3

18. When gas X is passed over heated iron, a white solid is formed. X is likely to be...

chlorine

hydrogen
hydrogen chloride
sulphur dioxide

Sowp

LS
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19, The order of reactivity of metal X, Y and Z is X. Y, Z. Which one of the following statements is
true about the metals? ]
A, When Z is added 10 an aqueous solution of X a precipitate is formed. i. 5
B. When X is added to an aqueous solution of Z & precipitate is formed. | |
g Y(s) + X" (aq—> Y*"(aq) + X(s)
D. Z reacts with cold water while X and Y react with steam.
. - P o —
2J.  When blue litmus paper is dipped into an aqueous solution X, the blus litmus turns red. X is
likely to contain. ..
A. NH.1+ i—__-‘
B.  Mg* ‘ |
K Ca™"
D. OH™ ) .
21. When heated potassium hydrogen carbonate decomposes according to the equation.
2KHCOs(s) —  K,COs(5) + COy(g) .
Determine the loss in mass of Potassium hydrogen carbonate when 5g of it is heat.
K=3,H=1,C=12, O=16)
A. 1.1 g l {
B. 22¢g |
2 C: 345¢ i_
‘ B 11.0¢g
22.  The formula of a sulphate of element M is MSO,. The electronic structure of an atom of an
element that belongs to the same group with M is
A, C.
T B
D
#23. The variation of volume of carbon dioxide produced with time when <alcium carbonate is
reacted with hydrochloric acid is shown in the figure below.
zt
3 A
2
Cri
O
S
2
5
3
- .
Time g
Turn Over
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21

Curve A is obtained when
ol calcium carbonate are used.

A, bigger chips

B. the volume ol acid 18 increased.

the concentration of the ac id is increased.
D. the temperature s lowered.

The number of particles in the atoms of clements I Q R and § are

Atom Protons Neutrons Klectrons
P 0 0 0
Q 2 2 2
R 4 5 4
S 6 7 6

Which of the atoms are isotopes?
A. P and R
B. Rand S
sl Pand Q
i Pand S

Which one of the following gas diffuses faster than dinitrogen oxide?
(N=14, 0=16, C=12 H=1 §=32)

] U

A, Butane

B. Ethene

s Sulphur dioxide
D. Propane

The volume of oxygen produced when hydrogen peroxide decomposes is increased by
increasing the volume of hydrogen peroxide
adding manganes(I1V) oxide '
adding copper(11) sulphate

mixing with vanadium(V) oxide

|

oW

What mass of copper(Il) sulphate -5- water is required to make 100 em’ of 0.1M solution?
[Cu=64,8S=32,0=16,H= 1]

1000 X250 X 0.1

A. 5x100x0.1 13,
100
c 250 X100 I 0.1 X 250 x 100
1000 ' 1000

A mixture of ammonia and oxygen was passed over heated platinum wire. The product(s) of the

reaction isfare...

A Nitrogen monoxide =
B3. Dinitrogen oxide
C. Nitrogen dioxide o
D Nitrogen monoxide and water

O WAKISSHA Joint Mock Examinations 2011 (

Scanned by CamScanner



29.

Ll
Ll

Which one of the following is observed when concentrated copper(II) chloride is electrolyzed
using copper electrodes?

A. A colourless gas at the anode.
B. A yellowish-green gas at the cathode. ‘
C. A yellowish-green gas at the anode.
D. The anode increases in size.
The formula of a gas that dissolves in water to form an alkaline solution is...
A NH;
B. NO;
% NO
D, N,O

25 cm’ of a 0.1 M solution of acid HA reacted completely with 20 cm’ of sodium hydroxide
solution. The molar concentration of sodium hydroxide is...

A. 0.100 M
B. 0.125 M
e 0.200 M
B. 0.250 M

The pair of salts below which forms reddish brown fumes when heated is. ..
A KNO; and NaNO;
B. KNOj; and Zn(NOz,)z
C. Zn(NO;) and Cu(NO;),
D. Zn(NOj3)2 and ZnCO;

Which one of the following gases can be prepared from ethanol?

A. Ethane
B. Butane
C Methane
L. Ethene

10 cm’ of nitrogen were reacted with 40 cm® of hydrogen. What volume of ammonia was
formed? (All gases measured at s.t.p)

A. 30 em’

B. 50 cm’
C. 20cm’
D. 40 cm’

When 6 g of graphite is burnt in excess oxygen 195kJ of heat energy is evolved. Therefore the
molar heat of combustion of graphite is

195
A, el (6 X —1-5-)
B. —(12 x 6 x 195)
| Turn Ov
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o - ( 195 X —6—)
D. —(6 x195)
36. The formula of haematite is...
A. F6203
B. FeO !
C: Fe304
D. FCCO;
' : is. ..
37. 2 litres of gas Z measured at s.t.p weigh 5.71 g. The molar mass of the gas !
[Molar gas volume = 22400 cm’]
A. 32¢g
B. 64 g
. 6.4¢g
D. 32¢g
38. A white precipitate was formed when a soap solution was added to solution X. X might have
contained...
A.  Na andK'
B. Mg”andK'
C.  Mg** and Ca**
D. Mg* and Zn**
39. A white precipitate is formed when lead(II) nitrate solution is added to an agueous solution of Z.
‘ The precipitate decomposes when heated. The anion in Z is likely to be
A. S0%~
B. Co3~
C Cl™
D. [~
40.  Gas X does not burn but forms dense white fumes with ammonia. An aqueous solution of X...
A. has no effect on litmus.

1s acidic.

B
. 1s alkaline.
D

is neutral.
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Each of the questions 41 to 45 consists of

right hand side, Select,

41.

42.
43.
=,

45.

A.

the assertion.
B.

of the assertion.
C.
D.

Instructions summarized.

l_f the assertion is true but the reason is not a correct statement.
if the assertion is not correct but the reason is a correct statement

Assertion Reason

A. True True (Reason is a correct explanation)

B. True True (Reason is not a correct explanation)
C. True Incorrect

D. Incorrect Correct

When hydrogen chloride gas is

Because

bubbled into ammonia solution there
is no observable change, but when a
gas jar of hydrogen chloride gas is
inverted over a gas jar of ammonia

gas white fumes are formed.

Electrolysis of acidified water

evolves hydrogen and oxygen gas.

Because

Excessive use of “OMO” affects our Because

[akes and rivers.

Reactivity of the alkali earth metals

Because

increases as the group is descended

When ammonia gas is passed over

Because

heated copper(ll) oxide its mass

increases.

Both hydrogen chloride and
ammonia gas are highly
soluble gases.

Water consists of hydrogen
and oxygen molecules
combined together.

“OMO?” easily dissolves in
water than ordinary soap.

As the group is descended
the atoms become bigger.

Ammonia reduces copper
(IT) oxide to copper.

© WAKISSHA Joint Mock Examinations 2011
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: 1 sad eacl question
In each of the questions 46 - 50 one or more of the answers given may be. correct. Re /]
carefully and then indicate on your answer sheet according to the following

A. if 1, 2 3 only are correct.

B if 1, 3 only are correct

C if 2, 4 only are correct

D if 4 only is correct
r Instructions summarized
l A I B C D t
[ 1, 2, 3 only correct ] 1, 3 only correct 2, 4 only correct 4 only 1s correc

46.  Which of the followmg solutions contain the same number of moles of ammonium ions?

50 em® (JfO 1 M ammonium nitrate
100 cm of 0.1 M ammonium chloride

L.

2

3. 25 cm of 0.2 M ammonium sulphate
B 25 em’ of 0.2 M ammonium phosphate

47. When ammonia solution is added drop wise until in excess to an aqueous solution X, a
precipitate is formed which dissolves in excess ammonia, X is likely to contain..

1. NH;NO;
2 Zn(NOj3);
3, Pb(NOs3);
4 Cu(NOs);
48.  Which of the following is/are properties of sulphuric acid?
1. Evolves carbon dioxide with bicalbomtes
2 Evolves hydrogen when heated with copper metal
3. Turns sugar from white to black
4 When heated with ethanol ethane is formed

49, The ion(s) formed when chlorine is dissolved in a cold sodium hydroxide solution is/ are..

Cl~

. T ey

2,
3. Clos |
4

Clo~

50.  The structure of substance A is— (H2C-CHa)i— The gas(es) that react to form A is/are ...

1. C;H;
2 CyHg
3 H,

4 C,Hy

END
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alz riven contains .
bons whos¢ molecular formulae are given containg ,, ‘
carbon:s
g hydro

1 1. Which one of the followin 3
‘T carbon- carbon double bond’ . -
A, CaHg D. C.H,
I3, CiHyo .
.t ine to the graph below.
2. The solubility of salt P varies with temperature accordmg'

@) R

Iﬁ. 11111

=] a B

8 a0 - ;

E HHHHH b

=20

-5 =

75 1

0 O
0 ooy - 60 80 100
Temperature/°C |
What mass of P will be precipitated when a saturated solution is cooled from 60°C to
30°C? .
A 10g - i C. 30g
B e D. 25g
3 The formula of the sulphate of an element Z is Z2(S0O4)s. The likely atomic structure of Z is
- B p. L
4. Which one of the following gases whose molecular formulae are given can be prepared by

dissolving a solid in water?

A.  NO C. 0
B. S0, D. CH |

5. 60cm’ of hydrogen were mixed with 40 cm’ of chlorine and exposed to bright sunlight.

T h(.: resultant gas mixture was then shaken with water. What was the volume of the
residual gas? [Hy(g) + Cl, (g) ——— 2HCI (2)]

A. 100 crn3 &4 60 cm3
= 3
B. 80 cm D. 20 Cm3

© WAKISSHA Joint Mock Examinations 2042
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10.

11, ~

-GOW?V

o 0wy

The reactivity of the elements X, magnesium and Y is X, Mg, Y. Which one of the
following statements is true?

A. . WhenY is added to a solution of X in water X is precxpltated

B. Magnesium and Y react with cold water.
C Magnesium and Y react with steam.
D. - X and magnesium react with steam. = -

The atcimi'c structure of element M is $3M. Which one of the following statement is true

about an-atom N below M 1 in thc Penodlc Tab}e‘?

Forms a sulphate of the form Nz(SO4)3
Forms a sulphate of the form NSOy
' Forms a cation of the type N3 '

. ‘Forms a chloride of the formula NCl | - :\

Wluch one of the followmg mixtures can be separated by applying heat to the mtx‘rure'7 -

Sugar and sand. B -
iron(1If) chloride and sand. = : g om , ‘ 5
Sulpur and iron filings ' ; ' ' -
Sodium chloride and sodium sulphate

The number of moles of sulphate ions contained in 25 em® of 0.1 M alurmmum sulphate

solution is.

25 % 0.1 ' _ " 2x25%0.1

A. B. e
1000 ; v s : 1000
3% 25x0.1 _ D 25 X 0.1
1000 T 3X 1000

Concentrated sulphuric acid acts as a dehydratmg agent when it reacts w1th

A, Copper(II) sulphate crystals

B. Sodium hydroxide | . SO =
C.  Magnesium metal ' : - ‘
D.  Zinc oxide. : w ¥ _

When 1.2 g of graphite was completely burnt in oxygen, the heat evolved raised the

temperature of 100 g of water from 25°C to 35°C. The molar heat of combustion of -

graphite in Joules is [The specific heat capacity of water =4.2 Jg’ 'K, C=12]

100 X 4.2 X 10 X 12 ' o 100 X 4.2 X 10 X 12 .
2% 1.2 "y 1.2 -
100 X 4.2 X 35 X \:
5 | 35 % 12 B 100X 42X25X12

1.2 ' 1.2

© WAKISSHA Joint Mock Examinations 2012
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' - -1y air?
oxides readily reacts with air?

12.. Which one of the following hydr .
A, Cu(OH): | | | D
B. Fe(OH):2 o - :
¢ ‘MgO -
D. CaO ) & f med at
. : des. The prOdllCt 0
13.  Dilute sodium hydroxide was electrolyzed using graphite electrot®
the positive electrode Was ' :
A.  Sodium ' o
B Hydrogen : -
o Oxygen | | o
D. - Oxygenand hydrogen e
PO il’
14. Vhich one of the following COBdlthI‘lS would result into 2 high yield of sulphur trioxide 11
' the reaction: [2802(g)* 0y(g) =—— > 950s(g)  AH=190 KkJmol™]
A.  Low temperature and Jow pressure _ D
B. High temperature and high pressure¢ ,
. High temperature and low pressure.
D. Low temperature and high pressure
5. A colourless gas when bubbled into potassium dichromate(V1) solution turns it green.

The gas is likely to be _ | -
A. Ammonia | : " ' - '.

B. Hydrogen chloride. _ ' . ‘ _ \
C.  Sulphur dioxide ' : .

D.  Chlorine
ted with quality of electricity passed when lead

The variation of mass of lead deposi
which one of the following graph,‘?

bromide is electrolyzed is described by
A
o
a3 5 3
o ' 4
o (&)
2 %
] o
= =
Quantity of clectricitry ' ~ Quantity of electricity '.
C. A ' D S A . - l
. B
kS =
G P
c o
é ol
< g
= _
e Quantity of electricit}r{

Quantity of electricity
© WAKISSHA Joint Mock Examinations 2012
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18.

% 19.

20.

21.

. e - y ?
Which one of the following gases can be converted 1uto a high molecular mass substance?

A. Ethane
B. Ethene
C.  Methane
D.  Propane.

X, a white precipitate

When sodium hydroxide solunon was added to an aqueous solution .
luticm was added,

soluble in excess sodium hydroxide was formed. When ammonia so
there was no observable change. The likely cations in X are

.Caz-.h, Ba2+’ Al}l- 5 . ; . | B
AP, Pb?*. Zn®" :l
A13+, Pb2+ . . | .

Mg®, AP, Pb*

oowp

Which one of the following salts whose formulac are given can be prepgred by éddlﬂg

 dilute sulphunc acid to a solution containing cations of the salt?

A.  MgSOy
B. BaS0O4
C. Na2804
D. CaSOq4

What vohune of oxygen measured at s.t.p is evolved when water 1S added to7.8¢ of

sodium peroxide?  [1 mole of a gas occupies 22400 cm’ Na=23, 0= 16]

A, 224dm’
B.  4.48dm’
¢. L12dm’
D. 672dm’

Which one of the foliowing substances dissolves in water to form a solution with pH
above 77

A. Sodium chloride

B. Sodium nitrate
i Sodium sulphate
D. Sodium peroxide

A mixture of solid Z and concentrated sulphuric acid evolved a colourless gas which
fumed in moist air. Z is likely to be

A. Carbonate
B.  Sulphate
C.  Sulphite
D.  Chloride

_‘ . - Turn Ove
© WAKISSHA Joint Mock Examinations 2012 5 '
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b,

" . - > o of lead iodide whea addad
23. - 1M potassium iodide will precipitate 462¢ i o

to lead nitrate solution? [Pb =208, [=127

A 150cm’ | _ ]
|

B. 100cm’ L
@4 200 cm”
D. 50 cm’

. i . - - = - d Col-,ur cas is e“ol\'ed.. X
When a mixture of sodium hydroxide and solution X 1s warmed. a colour &

24,
contains
‘A, NH:" ]
B, AP '_,_{
C: A
D. Pv**

55 Which one of the following is utilized when separating a mixture of sodium carbonate and

sodium hydrogen carbonate? .

A. Difference in boiling points.
B. Difference in solubility.

T Difference in molecular mass.
D. Difference in melting point.

76.  Atoms of the same element with the same atomic numbers but different atomic masses

are called
A. Monomers
B. Isomers

o Allotropes
D. Isotopes

An oxide of element Z contains 27.6% oxygen. The simplest ratio of Z to oxygen in the

27
oxide is [Z=56,0=16]
A. 2:3
B. 1:2
C. 3:4
D 1:1

28.  Sulphur was burnt in excess oxygen and the product dissolved in water. Which ore of the
following statements is true about the resultant solution?

Turns red litmus blue.

Evolves hydrogen when reacted with a metal oxide.
Neutral to litmus.

Turns blue litmus red.

oOowp
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' Which one of the following pairs of substances when heated decomposes forming a
re51due whxch d1ssolves in sodium hydroxide solut:on‘? ' 5

A PbC03 and Zn(NOs); -
B. KNO; and PbCO;
C.  NaNO; and KNO;
D. CuCOg, and CaCOs;

30.  The atomic number of element Pis 5. The electrome structure of an clement Q wluch

| belongs to the same g_roup w1th Pis" . |
mpletely with 20 cm’.of 0. IM potassmm | '-- :

31, 20cm®of chlute hydrochlonc aeld reacted co
carbonate solution. The molar concentratxon of hydrochloric acid was

[K2CO;s (aq) +2HCl (ag) g 2KC1 (aq) +H,00) +CO» (g)]

A0l

B. 0.2
C. 03
1B

. 04

32. Hydm gen bums in oxygen accordmg o the equanon Hz(g) +02(g) i 2H20(1)
AH= — 286 kJmol ™. What volume of hydro gen measured at room temperature wﬂl

- bum in oxygen to evolve 2.86 x103 J of heat. [Molar gas volume atroom . .

.temperarurc 24000 cm]

CA. T 480 cm
B 80 cm
C. 240cm’
D. 120cm’

33, Tron filings were left outside fe_r s'em.e days. Tl_ie fox_*rﬁula_of the product feﬁned was

A.  Fe(OH);

B. Fe;03.xH,0
Gy FCO.XH20
D

- Fe(OH),
4. Which one of the following aci_d_s'decbmposes when heated?

Ca_rbonic.aeid

B.  Nitric acid T | "
C.  Hydrochloric acid - : ' S E
D.  Sulphuric acid ' ' : & =
© WAKISSHA Joint Mock Examinations 2012 . ITuranovm
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33,

36.

¥

38.

39.

40.

imilar method?
Which one of the following pairs of metals can be extracted by & similar me

Potassium and iron D

Potassium and copper
Potassium and sodium

Iron and copper.

Sow>

Chlorine gas was bubbled into water and the mixture exposed to sunlight. The observation

made was

Bubbles of a colourless gas.

A greenish- yellow solution was formed. D
‘Bubbles of a colourless gas which fumes in moist air.

A solution which turns red litmus blue.

o>

Which one of the following oxides is used as a catalyst?
Magnesium oxide

Calcium oxide ' r—
Vanadium(V) oxide

Sodium oxide

gowp

Which one of the following pairs of salts whose formulae are given can be prepared by
action of an acid on a metal? -

ZDSO4.71’120 and FCSO4.71“1‘20

A.

B, FeS04.7H,0 and CuS04.5H20 -

C.  NaCland PbCl, | - \ l
D. PbCO; and ZnCO3

When pas X is bubbled into silver nitrate solution a white precipitate is formed,
Which one of the following statements is true about gas X?

A. Has no effect on litmus. .
B. Reacts with iron filings evolving hydrogen. D
C. Turns red litmus blue. : :

D. Reacts with potassium iodide forming a brown precipitate.

Which one of the following reactions is a neutralization reaction?
A MgO(s) + 2HCl(aq) —— MgCla(aq) + H20(1)

B.  Mg(s)+2HCl(aq) —— MgCl(aq) Ha(g)

C CuS0s (aq) +2NaOH(aq) — Cu(OH)a(s) +NaSO4(aq)
D.  Hy(g)+Ch(g) —> 2HCI()

© WAKISSHA Joint Mock Examinations 2012
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4
In each of the quest;
o f the questions 4] =45, one or more of the answery
e L Swers given may be correct, Read each

correct answer aceordi
A. If1, 2 and 3 only are correct e

B, If I and 3 only are correct,
C. If 2 and 4 only are correct.
0. If 4 only is correct,

41.  Which of the following is / are formed
Potassium oxide

Potassium nitrite

Nitrogen dioxide

Oxygen

when potassium nitrate is heated?

N

_42. W’hlc.h of the following anions will be precipitated when barium nitrate is added to a
i solution containing ions?

1. SO “ |
cr j

2.
3. COz*
f 0
43. Which of the following statement(s) is /are true about covalent compounds?

1. Conduct electricity in molten or aqueous state.
2. Are highly soluble in water.
3. Have high melting point.
4. Are highly soluble in organic solvents.

Ll

44. 25 cm’® of 0.1 M sodium hydroxide reacted completely with 12.49 cm’ of 0.1 M acid Y.
Which of the following statements is / are true about the reaction?

b . ™ Sodium hydroxide and Y react in a raiio 1:2
2. Y has two replaceable hydrogens. ‘::
3. Y has one replaceable hydrogen.
4. Sodium hydroxide and Y react in a ratio 2:1

45 Chlorine gas was bubbled intb a cold solution of sodium hydroxide. The resultant solution

contained. . ;!

1 oCr
3, Na’ : |
4 ClO; ™ and OH"

Turn O
9
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50 consists of ant assertion

Each of the questions 46—
lect

reason on the right hand side. ¢

(s!aremem) on the left

e std!emenfs and the reaso

the hand side and a

n is a correct

{ I
L1

m)

Both hydréchloric and sulphut

acid are strong acids. D

A. If both assertion and the reason are Iri
explanation of the assertion. . - - ot a correct
B. If both the assertion and reason.are irue statements but the reas 0”_ ’f' '
explanation of the assertion. ¥ I
C. If the assertion is true but the reason is not a correct statement.
D If the assertion is not correct but rhe reason is correct.
INSTRUCTION SUMMARIgLED_”/
B Assertion Reason
[ A. True True (reason is a correct explanation) |
B.  True True (reason is not a correct expiaﬂatloﬂ) TR L
C. True Incorrect : S S
D. Incorrect Correct T i l

46. - When hydrogen chloride gas is bubbled Because Chlorine displaces iodine from
into potassium iodide solution, a brown ' its aqueous solution.
solution is formed.

47.  Electrolysis of brine using graphite | Because Chloride ions are discharged at
electrodes yields chlorine at the positive : the positive electrode. '
electrode. '

48.  Theelements with atornic Because The elemcnts have the same
number 5 and 13 belong . number of .,l_lells.
to the same group in the periodic table D

49.  Iron is extracted from its ore by heatin g Because ‘Carbonisa stronger reducmg
with coke. ' agent than iron.

50.  The same volume of hydrogen gas is Because
evolved when equal volumes of 2 M
hydrochloric and 1 M sulphuric acid are
reacted with the same mass of magnesium.

END
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l. Which one of the following pairs of gases has reducing properties?

A Sulphur dioxide and carbon dioxide
B. Sulphur dioxide and hydrogen :
C. Sulphur dioxide and oxygen

D. Hydrogen and oxygen

2. Which one of the following methods of preparing salts can be employed in the preparation of hydrated
Zinc Sulphate? :

Direct synthesis |
Precipitation

Action of an acid on a metal

Neutralization

™ O

3. The pair of hydroxides below that dissolves in sodium hydroxide solution is
A Al(OH); and Fe(OH)3

B. Al(OH); and Cu(OH), ‘
C. Cu(OH); and Zn(OH); .

B Zn(OH), and Al(OH);

4. Which one of the following compounds whose formulae are given conforms to be general formula
CnHaq+2? '

A. Cs;H; and C;Hy

B. C,H; and CHy4
C. Csz, and C3H3
D. C3H;g and C3Hg
% The pair of metals below which can be extracted the same method is ....... :
A. Potassium and iron
B. Sodium and magnesium
. Sodium and Copper
D. Potassium and iron -
6. Fractional distillation can be employed to separate a mixture of .........
A. Water and paraffin
B Ethanol and water
e Iodine and sulphur
D Sodium carbonate and sodium bicarbonate

© WAKISSHA Joint Mock Examinations 2010
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10.

1.

The structure of an atom of element T is i;T _The formula of the ion T formed most is

,IQ.
i

i i
;

SOw>

Water was added to solid X, a colourless gas was evolved. The gas is likely to be....
Carbon dioxide

A.
B. Oxygen '
C. Ammonia
D. Hydrogen

Substance X burns in oxygen to form a solid which dissolves in water forming solution Z. Z turns red
litmus paper blue. X is likely to be ......

Sodium
Phosphorus
Carbon
Sulphur

Nitrogen
Methane
Sulphur dioxide

Ammonia

A.
B.
C.
D.
Which one of the following gases is a pollutant?
A.
B.
C.
D.

[

The reaction between sodium carbonate solution and copper(II) sulphate takes place according to the
equation.CO;z' (aq)+ Cu**(ag) ——> CuCOs(s)
What volume of 0.1M sodium carbonate is required to precipitate 1.24 g of copper carbonate?

A. 50 cm’

B. 100cm’ |

C. 10 cm’

D. I24cm’

Which one of the following salts dissolves in water forming a solution that forms a white precipitate
when lead nitrate solution is added to it? -

Sodium chloride and sodium nitrate

oo

Zinc nitrate and Zinc chloride

Sodium sulphate and sodium carbonate
Copper carbonate and copper (II) sulphate

Turn Over
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Sca

13.

14.

15.

16.

17,

18.

b e,

)

An example of a thermosofterning plastic is...

1] Polyéthcnc

A. Polyester
Nylon

B. Rubber _ D.
ic acid solution. What volume of

A current of 0.65A was passed for 35 minutes through dilute sulphur
500C, molar gas volume at room

gas measured at room temperature is evolved at the anode? [1F = 96
temperature = 24 _dm3] '

A, 0.0014dm’ C.  0.084dm’
B.  0.0084dm’ . D, 0.042dm’

Which one of the following reaction equations represents an oxidation — reduction reaction
A.  CuCOs(s) — CuO(s) + CO(g) |

B. H,0(l) + Cly(g) — HCl(aq) + HOCl(aq)

C.  Mg(s) +Cla(g) —> MgCl(s)

D.  NaCOs(aq) + H;804(aq) —> NapSO4(aq) + H;0()

T_he atomic number of element Z is 20. Which one of the following atoms whose atomic structures are
given belongs to the same group of the Periodic Table as Z ?

A4

B, R
& 38
13 T §

The combustion of methane takes place according to the equation

CHi(g) ; 20;({‘3; — f COz(ﬁ) +2H,O(l) What volume of gas remains when 10 cm® of methane
is mixed wit cm’ o { : "
g m” of oxygen, the mixture exploded and allowed to cool to room temperature?

A. 10cm’
B. 15¢m’
. 20cm®
D.  30cm’

A reddish brown gas is evolved when substa i . '
lkely to be in M? nce M is heated. Which one of the following anions is most

A.  SOF
B. S0y
¢ CoF
D.  NO;

© WAKISSHA Joint Mock Examinations 2010
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19,

20.

2
ot

)

Gas Y turns acidificd potassium dichromate solution green. Y is likely to be

a'\.
B.
C.

D,

Caleulate the concentration of hydrogen ions in sulphuric acid solution that will evo

SO,
CO;
Cl,
NH;

hydrogen gas measured at stp.

A.

B.
G

D.

Metal X reacts with sulphuric acid evolving a colourless acidic gas. X is likely to be

0.4
0.3
0.1
0.2

A. Copper
B. Zinc
C. [ron.
D. Magnesium
Carbon burns in air according to the equation
C(s) + Oa(g)
39.2 kJ of heat?
392x12
A. . g
. 39.2
B, 12x39.2
392
2
C. 392x39.2 "
12
D. 12 x 392 x39.2g
Isotopes of an element....
A. belong to the same period of the Periodic Table
B. have the same mass number
5 have the same number of electrons
D. have different number of protons.

Ive 2.24dm’ of

--------

»CO,(2) AH=-392 kimol™ .What mass of carbon burns in oxygen to evolve

Electrolysis of a concentrated solution evolved a colourless gas that bleaches blue litmus. The anion in
solution is likely to be...

A

B.
B
D.

Gl
Na
OH
r

© WAKISSHA Joint Mock Examinations 2010
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27,

28.

29,

30.

_ . 3 is likely to be...
The atomic number of element M is 17. The electronic configuration of the ion of M is likely

~]

e
: 8

1 8
: 8

Vowp
[ T 5 T T Y
oo

What will be the loss in mass when 12.4g copper carbonate is heated?
[Cu= 64, C =12, O =16, CuCOs3(s) —>CuO(s) + CO(g)]

44x12.4 E

A 124
124x44
& 12.4
C 12.4x124
44

D. 124x44x124

Which one of the following pair of substances whose formulae below give off colourless gases when
heated? '
A. KNO; and CuCO;

B. KNOj; and Cu(NO3);

C.  Zn(NOj3); and KNO;

D. Pb(NO;), and NaNO;

Metal R reacts with the chloride of metal P according to the équation.
R(s) + PCly(ag) ——————»RCly(aq) + P(s) Metal P displaces hydrogen from dilute acids but Q does
not. The order of reactivity of the metals s .......

"

"‘d
o0

-

SOwp
o RO
[

O o R

Xhe forﬁlg? of the sulphate of element M is M2(8O4)3. The formula of the chloride of element M is
, 3

B. MCl,
i MCI
D. MCly

Which one of the following substances disso
A. Naz(.)2

B. CO,
C. KCl
o5 SO,

& WAKISSHA Joint Mock Examinations 2010
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Lad

X, Y, Zand W are 12, 13 14 and 20 respectively. The elements that

3l. The atomic numbers of elements X
MSO; are

will react to form a sulphate of the form
X, Y,Zand W

NXand Y

X, Yand Z

Xand W

WOw 2

; s o sum iodi i
25 o’ of 0.1M lead nitrate solution was mixed with 30 cm” of 0.1M potassium iodide solution. The

resultant solution will contain the following ions, | |
A. KT
2+ o r+ 1=
: Pb~, NO; . K, 1 _

B
¢ K., NO;
D.  Pb*, NO;

Lad
1-J

Hydrocarbon X, molecular mass 58 contains 14.3% hydrogen. The molecular formula of X is?

(s
(V5]

A. CsH)>
B. CsHs
C. CsHio
D. onsh

34.  Compounds with the same molecular formula but different structures are called?

A. 1somers
B. MOnoImers
C. polymers

D. isotopes

Thic i ins th
Which one of the following contains the same number of moles as 10cm’ of a SM monobasic acid

3.
solution? [Molar gas volume at stp = 22.4dm’]
A. 17g of ammoma gas
B. 1 17dm of oxygen measured at stp
¢ 112cm’ of oxygen measured at stp
D. 12g of carbon

6. Lead(II) nitrate solution can be used to distineui ; _ .
e n be used to distinguish between which one of the following pairs of ions in
A.  SOf and COF
B.  Zn® and AP
85 Cl'and CO;~
D.  Cl'and NH "

N Turn Over
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d to completely react 0.64g of copper. Copper reacts with oxygen
rea o

; i =64,0=16
57 Calculate the mass of OXY27 i§§‘ 't Oy(g) ———>2Cu0(s), given Cu=64,0=16]
T i tion 2Cu 4

according to the equa

0.64x32
128

0.64

x32

64x32
0.64

0.64x2x32

. 64

38.  Select from the list below, a pair of acid salts
A.  NaHCO; and NaHSO,

B. Na>CO; and NaSQ,

L CH;COONa and Na; C,0,4

D. KNO; and NH4Cl.

39. Which one of the following are used as catalysts in industries?
A. Platinum and Vanadium

B. Platinum and Vanadium pentaoxide
= [ron and nickel ' \
D.  Copper and iron.

10.  Which one of the following elements combin

=

es to form a compound which conducts electricity in the
aqueous state?
Magnesium and carbon dioxide

B. Magnesium and chlorine
C. Copper and tin
D.  Copper and aluminum.

© W4 KISSHA Joint Mock Examinations 2010
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Each of the questions ;
f the questions 41 to 45 consists of an assertion (statement) on the left hand side and a reason on the

right hand side. Select.
statements and the reason is a correct explanation of

A. if both the assertion and the reason are true
the assertion.

B. il both the assertion and the reason are true statements but the reason is not a correct explanation
of the assertion.

C. if the assertion is the true but the reason is not a correct statement.

D. if the assertion is not correct but the reason is a correct statement

Instructions summarized.

" Assertion Reason
L A. True True (Reason is a correct explanation) |
B. True True (Reason is not a correct explanation)

C. True Incorrect
Correct

D. Incorrect

Electrolysis of dilute sodium Hydroxide evolves hydrogen
Sodium hydroxide solution

41.
at the anode. Because .
- contains hydrogen 10ns.
42.  Anoxide ionhasa noble gas configuration. Because Oxygen gains electrons
forming an oxide 1on.

]

Both gases dissolves In

are acid anhydrides. Because
water to form acids.

43,  Sulphur dioxide and hydrogen chloride

i

Atomic number increases
along a period of the
PeriodicTable.

44, Atomic size decreases along a period of the Periodic Table. Because

B

Complete combustion of ethanol and fermentation

of glucose are exothermic processes. Because Ethanol and glucose contain

carbon atoms.
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. . + Read each question
In each of the questions 46 to 50 one or more of the answers given {Hay b'e correct, Rea /
carefully and then indicate on your answer sheet according to the Sfollowing.

A. if 1. 2. 3 only are correct.
B. if 1. 3 only are correct
L if 2, 4 only are correct
D. if 4 only is correct
Instructions summarized
A B € D
1,2, 3 only correct 1, 3 only are correct 2, 4 only correct 4 only is correct

46.  Calcium carbonate powder was reacted with dilute hydrochloric acid, the volume of carbondioxide

evolved was plotted against time as shown in the graph below.
A

Volume of
CO, evolved

A4

Time

Curve A can be obtained by
1. Using marble chips
% Increasing the concentration of acid
3. Adding more acid
4 Increasing temperature.

47.  Zinc nitrate crystals were heated. The observation made was

1. A colourless vapour

2 Reddish brown fumes

3. A white residue when cold
4 Oxygen gas
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48. A X r . 1 1
n aqueous solution X forms a white precipitate when reacted with excess aqueous ammomnia. The likely
cations in X are;-

NH}, Mg2+ 702t
Ca®, Zn®* NH; -
A", Ca**, NH; ‘ ‘ _

Mg** Pb*" AP

B

49, Which of the following reactions yield chlorine?

48 Heating lead(II) chloride

2 Reacting concentrated sulphuric acid and sodium chloride
3.

4.

Reacting ammonia with concentrated hydrochloric acid
Heating a mixture of concentrated hydrochloric acid and manganese(IV) oxide.

50.  Which of the following cations in solution forms a white precipitate when added to a soap solution?

1. Mg ,
3. o
4, AP

END
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Instructions:
1. Attempt all questions.

2. Write A, B, C or D in the box against each question number in ink.
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. €
_ ¢ atom and th
llowing statements 1S true about the chlorin

Which one of the fo

ide ion?
chloride 10 . :
A Both have the same electronic configurations.

ide ion.
The chloride atom has more electrons than the chloride 1

B. ; _
C The chloride ion has more protons than the chlorine atom l::\
D The chloride ion had more electrons than the chlorine atom.

: ent X is
The formula of an oxide of an element X is X,0. The formula of an ion of elem

A, X%
B. X
D. X

The electronic configuration of an element X is 2.8:1. Which one of the following

statements is true about element M below X in the period table?

A. M forms an oxide with the formula MO

B The formula of the ion of M is M".

8 M forms a covalent compound with oxygen.
D The formula of the ion of M is M**

Which one of the following statements is true about mixtures separated by fractional

crystallization?

A. The components have the same solubility.

B One component is soluble in water and the other is not.
Cs. The components have different solubilities.

D The components are immiscible.

A current of 0.2A was passed for 60 minutes through dilute sulphuric acid. The volume
of gas evolved at the anode measured at s.t.p is (Molar gas volume at s.t.p = 22400cm’,

IF =96500C).
A. 0.0421
B. 0.421
i 4.20/
D. 4201

Aqueous chlorine is a bleaching agent. The ion responsible for the bleaching action of
chlorine has the formula.

A. CI

B. ClOy
C. OCI
D ClO0y4
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S.

20.0cm’ i i
cm’of 0.2M sodium hydroxide required 20.0 cm® of an acid H,X. Th
2A. The value of X in

the acid is
A.

L]

below that can be prepared by direct combination is

B Gar e g

B.
C:
D

The pair of salts
A. Iron(111) chloride and sodium chloride.

Iron(111) chloride and iron(Il) sulphate.

B.
C. Iron(I11) chloride and copper(ll) sulphate.
D Iron(I11) chloride and lead(Il) chloride. ‘:’

1 was added to an aqueous solution of X a white

When sodium hydroxide solutio
ly cations in X are

precipitate soluble in excess sodium hydroxide was formed. The like

A. Zn**, A1*" Ba®™
A1’ Ba®, Pb**

B.
e Pb>*, Mg?*, Ba*
D.

ALY, Pb*, Zn

Which one of the following chemical process requires a catalyst?

A.  250i(g) + Ox(g)—* 2503
S(s) + Oz (g)—* SO2(2) :
H,0() + 80s(g)—* H,S04(aq) I

H_‘gSgO? (3(3[) P H:(]) = 21“13804 (Il(])

B
C.
D

When 0.4g of an organic compound of molecular mass = 46 was burnt the heat
ure of 100g of water from 25 to 45°C. The heat of

produced raised the temperat
42367 CY

combustion of the compound is (S.H.C for water =
A, 96.6kJmol "

B. 9660 kimol

c. 966 kimol ™ E:]
B3 9.66 kJmol ™

\ chlorine is bubbled nto a

Which one of the following pairs of anions is formed wher

cold aqueous solution of sodium hydroxide?

A. ClO; and ClOy-
B. Cl and CIO5
C. Cl and OCI
D 0IC and CIOy
CWAKISSHA Joint Mock Examinatic
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13

14.

15

16.

EX.

A colourléss gas extinguishes a burning splint. The formula of the gas is

A. CcO
B. SO2
54 SO;
D CO2

When chlorine gas is bubbled into aqueous iron(II) chloride the solution turns
yellow. Which one of the following statements is true about the reaction?

A. Chlorine gains electrons.

B Chlorine looses electrons.

c Iron(II) ions in solution gains elections.

D Both Chlorine and iron(II) ions gains electrons.

Which one of the following equations represents a sublimation process?
A.  (NH4)2SO4(s) —» 2NH;(g) + H2S04(g)
B. 2KC1O;(s)—» 2 KC1(s) + 304(g)
C. ZnCO; (s) —» COz (g) + ZnO(s)
D 2Fe(s) + 3Cla(g) —» 2FeCl;(g)

The hydroxide below which dissolves in sodium hydroxide solutions is
A. Cu(OH),

B. Pb(OH),
€ Mg(OH ),
I3 Ca(OH),

Zinc reacts with dilute sulphuric acid according to the following equations.
Zn(s) + H2 SO4(aq) —— ZnSO4 (ag) + Ha(g). '

The number of moles of hydrogen ions required to react completely with 7.0g of Zinc is
given by the expression (Zn = 65 )
A. TR2Z%G3

3, 7
65

c. 7x2 [ ]
65

D. 65x2
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19.

20.

21.

22

23.

Which one of the following equations takes place at the anode when an aqueous

solution of copper(1l) sulphate is electrolyzed using a copper anode?
A 40H(ag) — 2H0() +0x(g) +2€

B. H*(aq) +e —» /2 Ha(2):

5 Cu %(aq) + 26 — Cu(s)-

D. Cus) —» Cu’’(aq)+2e

An oxide of element X contains 41% by mass of oxygen. The simplest formula of the

oxide is

A. X504 ;

B. X0 '

& am [
D. X0,

What volume of 0.125M acid HX will be required to neutralize 25.0cm’ of 0.05 M

sodium carbonate solution?

A. 15cm’
B. 10cm®
c. 20cm’
D. 25cm’

When water was added to a solid X, a colourless gas which turns red litmus blue was
evolved. X is likely tobea ....

A. Nitrate
B Sulphite
C. Nitride
D Sulphate

The most abundant component of air is
A. water vapour

B Rare gas
C. Nitrogen
D Carbon dioxide.

Which one of the following concentrated acids can be used in the laboratory
preparation of chlorine gas?
A. Sulphuric acid

B. Nitric acid
. Ethanoic acid.
D Hydrochloric acid.
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24.

27.

28.

Select from the list below a pair of strong acids.

A. Hydrochloric acid and nitric acid.
. |

Ethanoic acid and nitric a

B.

C Ethanoic acid and sulphuric acid.

D. Carbonic acid and nitric acid.

An aqueous solution of solid X forms a yellow precipitate when lead nitrate

solution is added to it. The likely anion in X is

A. A Chloride

B. An iodide

C. A sulphate ' lj
D. A carbonate

ariation of volume of carbon dioxide with time when

The graph below shows the v
hydrochloric acid.

calcium carbonate is reacted with dilute

A

Volume of CO;

Time

Which one of the following statements is true about region BC of the graph?

A. The reaction is still on going.

B. All the reactants have been consumed.

C. Carbondioxide is evolved at the same rate. _

D. The rate of the reaction is constant. | l
Calculate the volume of 0.5M sulphuric acid needed to make 500 cm® of 0.02 M
sulphuric acid.

A.  20cm’

B. 10cm’

c.  30em’ | |
D. 40cm’

Which one of the following gases is a pollutant?

A Ethene

; Sulphur dioxide
C.  Ethane [ ]
D. Ammonia.
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28

o

L
(o)

L]
J

34.

Which one of the following compounds conforms to the CyHzn formula?
Methane

Propane \:]

Ethene
Ethane

Element X reacts with the oxide of Y. The equation of the reaction between Z and

a solution of X is . .
Z(s)+ X2 (aq) —» X (s)+ i (aq). The order of reactivity of the elements is
A. Y,Z, X C) Z,Y,X

B. XZY D) Z,XY E:

The atomic numbers of element W, X, Y and Z are 8, 7, 17 and 12 respectively.
The elements that react to form an ionic compound are

A. Xand Z

B. W and X -

C. Y and Z _ :\
D. Xand Y _

Carbon reacts with lead(I1) oxide according to the equation
PbO(s)+ C (s) —» Pb(s)+ CO(g).

Which property of carbon is illustrated in the reaction above?

A. Combustion and reducing property.

B Oxidizing property.

O Reducing property.

D

Combustion property.

Sulphur dioxide burns in air according to the equation,

250; (g) + Oz (g) — 2S03(g). Calculate the volume of sulphur dioxide that  will

burn when 50 cm? of sulphur dioxide is combined with 20cm’ of oxygen.
A. 25¢cm’

B. 50cm’
C.  20cm’ 1:
D.

40cm’

Which pair of metals below can be extracted by the same method?
A. Sodium and iron

B Sodium and potassium
C Sodium and copper
D

Sodium and Zinc D
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. - e sis of brine using
35 Which one of the following substance Is produced during the electrolysis of brine &

mercury cathode?

A. Water :]

B Sodium hydroxide and water.
C. Sodium Hydroxide and hydrogen.
D Hydrogen

Which one of the following statements is true about the test for sulphur dioxide gas in

36.

the laboratory?

A. The combustion property of the gas is used.

B. The green solution turns orange.

(& The reducing property of the gas is used. :
D. The oxidizing proper of the gas is used.

37.  Magnesium reacts with dilute hydrochloric acid according to the equation. .

Mg (s) + 2H + (aq) —> Mg ** (aq) + Ha(g). What volume of 0.IMHCI will react with
magnesium to evolve 40 cm® of hydrogen gas measured at room temperature? (Molar
gas volume at room temperature = 24000cm’)
A.  333cm’
B 166.7cm’
C. 16.67cm’
D.  333cm’

38.  When zinc carbonate was strongly heated, 2.24cm’ of gas measured at s.l.p was

produced. What was the mass of the residue?
(Zn =65, 0= 16 Molar gas volume at s.t.p =22. 4])
A. 8.1g
B. 18 ¢g
D. 1.62 g
39.  Which one of the following pairs of carbonates dissolves in water?
A. K2C03 and N83C03
B. K,CO;3; and MgCO;
C. K3C03 and Z[’ICO}. I:
D. K2C03 and FeCO;.
40.  Which one of the following factors would increase the rate of the reaction?

2H,0,(aq) —2H,0(1) + O(1)

Addition of platinum

Use of a big volume of hydrogen peroxide
Addition of manganese(1V) oxide

Addition of finely divide iron. B
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In each of the questions 41 to 45, one or more of the answers given may be correct. Read
each question carefully and then indicate the correct answer according to the following.
A. if 1, 2, 3 only are correct.

B. if 1, 3 only are correct

3 if 2, 4 only are correct
D.

if 4 only is correct.

41.  Select from the list below, gas(es) with reducing propertics.

l. Ammonia

Sulphur dioxide [:

2.
3 Hydrogen
4 Carbon dioxide

42, Which of the following cation(s) form precipitates soluble in excess aqueous

ammonia?

1. Zinc ions |

) Lead(Il) ions

3. Copper(ll) ions. l:
4. Aluminium ions.

43.  Zinc powder was added to an aqucous solution of copper(1l) sulphate. Which one of the
following statements is true about the reaction?
I A brown solid is formed.
2, Zinc is reduced to zinc ions. : _
= 35 Copper is displaced by zinc. l
4 Copper(I1) ions in solution are oxidized to copper.

44, Which of the following substance(s) is/are potential pollutants?
1. Ammonia gas

Polythenc E

2.
% Ethane
4 Sulphur dioxide gas.

45.  Which one of the following metals only reacts with concentrated sulphuric acid?
1. Mg
2. Ca
3, Fe \
4. Cu '
©WAKISSHA Joint Mock Examinations 2009 9

Scanned by CamScanner



Each of the questions 45 -50- consists of an assertion (statement) on the left hand side and
a reason on the right hand side. Sclect,

A. if both the assertion and reason are true statements and the reason is a correct
explanation of the assertion,

B. if both the assertion and the reason are the statement but the reason is not a
correct explanation of the assertion.

BN if the assertion is true but the reason is not a correct statement.

D. if the assertion is not correct but the reason is a correct statement.

Instructions summarized

Assertion Reason ]
A. True True(Reason is a correct explanation)
B True True(Reason is not a correct explanation)
C. True Incorrect
D Incorrect Correct
23 24 _
46.  The atom 11X and 12Y X and Y belong to the same
form ionic cEllorideS Because group in the period table.
47.  According to the kinetic theory Because There are no forces of
of gas molecules are in a state of attraction between gas
continuous motion. molecules.
48.  Electrolysis of dilute sulphuric OH  ion is lower
Acid between platinum electrodes  Because than SO4* ion in the series.

produces oxygen at the anode

49.  Iron(II) sulphide and iron (III) [ron is able to form
chloride are prepared by Because compounds in which it has
direct combination different valency.

50.  Water is an oxide of hydrogen Because Water contains hydrogen and

oxygen molecules.

END
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